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Preface

As prospective graduate students concerned with
professional advancement, you know the importance of
using good tools and drawing on solid research. |n this
Twelfth Edition of Barron’s How to Prepare for the GRE,
we offer you both.

This revision contains the fruits of our close study of
all recent GRE General Tests made public by the
Graduate Record Examinations Board. We have scruti-
nized hundreds of actual GRE questions, traced dozens
of GRE reading passages to their sources, analyzed
subsets of questions by order of difficul’y and question
type. In the process, we have come up with the following
features, which should make this Twelfth Edition partic-
ularly helpful to you:

Actual GRE Questions Analyzed

The Twelfth Edition takes you step by step through
dozens of verbal, mathematical, and analytical questions
from actual published GREs, showing you how to solve
them and how to avoid going wrong.

Testing Tactics

The Twelfth Edition provides you with dozens of proven,
highlighted testing tactics that will help you attack the
different types of questions on the GRE.

High-Frequency Word List

The Twelfth Edition gives you a new, updated 333-word
High Frequency Word List, 333 words from abate to
zealot that have been shown by computer analysis to

occur and reoccur on actual published GRESs, plus
Barron’s 3,500-word Master Word List, the college-level
vocabulary list for over 40 years.

Comprehensive Mathematics Review

The Twelfth Edition presents you with extensive mathe-
matical review materials that provide a refresher course
for students primarily involved in nonscientific disciplines.

GRE-Modeled Tests

The Twelfth Edition offers you a full-length Diagnostic
Test geared to the current GRE, a diagnostic test that
will enable you to pinpoint your areas of weakness right
away and concentrate your review on subjects in which
you need most work, plus five additional Model Tests, all
with answers completely explained, that in format, diffi-
culty, and content echo today’'s GRE.

Computer GRE Update
The Twelfth Edition introduces you to the latest fashion
in GRE testing—the adaptive, computer-based GRE—

and helps you determine how to prepare for this interac-
tive form of the GRE.

This Twelfth Edition once more upgrades what has long
been a standard text. It reflects the contributions of
numerous teachers, editors, and coaches, and the dedi-
cation of the staff at Barron'’s, especially Linda Turner.
We, the authors, are indebted to all these individuals and
to our publisher, Manuel H. Barron, for their ongoing
efforts to make this book America’s outstanding GRE
study guide.

iX



TIMETABLE FOR THE PAPER-AND-PENCIL GRADUATE RECORD EXAMINATION

IMPORTANT NOTE: This is a typical format only. The GRE you take may be slightly different. The order of the sections
will probably vary.

Iotal Time: 3 hours, 40 minutes

Time
Section Allowed Description
1 30 minutes Verbal Ability

7 sentence completion questions

9 analogy questions
11 reading comprehension questions
11 antonym questions

2 30 minutes Verbal Ability
7 sentence completion questions
9 analogy questions

11 reading comprehension questions

11 antonym questions

3 30 minutes Quantitative Ability

15 quantitative comparison questions

10 discrete quantitative (standard multiple-choice) questions
5 data interpretation questions (tables/graphs)

10-minute break

4 30 minutes Quantitative Ability

15 quantitative comparison questions

10 discrete quantitative (standard multiple-choice) questions
5 data interpretation questions

5 30 minutes Analytical Ability
19 analytical reasoning questions
6 logical reasoning questions

6 30 minutes Analytical Ability
19 analytical reasoning questions
6 logical reasoning questions

7 30 minutes Verbal, Quantitative, or Analytical Ability

TIMETABLE FOR THE COMPUTER-BASED GRADUATE RECORD EXAMINATION

Total Time: 3 hours, 25 minutes, or 3 hours, 40 minutes

Time
Section Allowed Description
1 45 minutes Verbal Ability

6 sentence completion questions

7/ analogy questions

8 reading comprehension questions
9 antonym questions

2 45 minutes Quantitative Ability

14 quantitative comparison questions
9 discrete quantitative (standard multiple-choice) questions
5 data interpretation questions (tables/graphs)

10-minute break

3 60 minutes Analytical Ability
26 analytical reasoning questions

9 logical reasoning questions

4 45 or 60 Verbal, Quantitative, or Analytical Ability
minutes
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Bl The Verbhal Sections
B The Quantitative Sections

B The Analytical Sections
B Testing Tactics

Bl Sample GRE Questions

What You Need to
Know About the

l An Overview of the GRE General Test
Bl Commonly Asked Questions About the GRE

An Overview of the GRE
General Test

The GRE General Test is a multiple-choice examination
designed to measure the verbal, quantitative, and ana-
lytical skills you have developed in the course of your
academic career. Because there is a strong correlation
between high GRE scores and the probability of suc-
cess in graduate school, many graduate and profes-
sional schools require that their applicants take the
GRE General Test. (They may also require their appli-
cants to take the appropriate GRE Subject Test; these
tests are offered in seventeen fields.)

There are seven sections on the paper-and-pencil GRE.:
two verbal sections, two quantitative sections, two sec-
tions testing analytical ability, and one experimental sec-
tion in one of the three tested areas; this experimental
section is not counted in the scoring. The verbal sections
measure your ability to use words as tools in reasoning;
you are tested not only on the extent of your vocabulary
but also on your ability to discern the relationships that
exist both within written passages and among individual
groups of words. The quantitative sections measure your
ability to use and reason with numbers or mathematical
concepts; you are tested not on advanced mathematical
theory, but on general concepts expected to be part of
everyone’s academic background. The analytical sections

measure your ability to make rational assessments about
unfamiliar, fictitious relationships and to think through
arguments logically. You are given 30 minutes to answer
the questions in each section; you may not go back to a
section once the time for that section has elapsed.

There are three very important points you should be
aware of:

1. Each question on the written exam is worth the same
number of points. Whether it was easy or difficult,
whether it took you 10 seconds or 2 minutes to
answer, you get the same number of points for each
question answered correctly.

2. In each group of questions, the questions tend to go

from easy to more difficult. This means that the first
analogy question in a group will probably be easier
than the seventh analogy question in that group, and
so on. (An exception is the reading comprehension
questions, which are not ordered by level of difficulty.)

3. The GRE General Test does not penalize you for incor-
rect answers. Leave no question unanswered. When
uncertain about an answer, guess—and mark your

guesses. You can always come back to them if you
have time.

Keep these three points in mind as you learn more about

what’s on the test, and the tactics and strategies that will

help you maximize your test score.



2 What You Need to Know About the GRE

Commonly Asked
Questions Ahout the GRE

How Does the GRE Differ from Other
Tests?

Most tests students take are achievement tests. They
attempt to find out how much the student learned, usually
in a specific subject, and how well he or she can apply
that information. Without emphasis on memorized infor-
mation, the GRE General Test measures verbal, mathe-
matical, and analytical reasoning ability that you have
developed both in and out of school.

How Gan | Determine Which Is the
Experimental Section?

Do not waste time in the examination room trying to
Identify the experimental section. Do your best on all
seven sections. Some claim that most often the last sec-
tion is the experimental part. Others claim that the sec-
tion with unusual questions is the one that does not
count. Ignore the claims: you have no sure way to tell. |f
you do encounter a series of questions that seem
strange, do your best. Either these are experimental and
will not count, in which case you have no reason to
worry about them, or they will count, in which case they

probably will seem just as strange and troublesome to
your fellow examinees.

Should | Guess?

Yes, definitely on the General Test. Unlike the Subject
Tests, which may have a guessing penalty, the General
Test simply gives credit for correct answers; it does not
penalize ones that are incorrect. If you are running out of
time, eliminate any answer choices you feel sure are
wrong. Then go ahead and guess. On the General Test,
guessing at an answer is ALWAYS better than not
responding at all.

On the Written Test, Is It Advisable
to Begin by Doing All the Easy
Questions First?

Yes, but don’'t devote too much time to any one question,
even if you think it should be an easy one for you. Usually,
the earlier questions of each type, except for the reading
comprehension questions, are easier than the later ones.
Most tests begin with “warm-up” questions. But what is
easy for one person may be hard for another, so it is good
advice not to get bogged down with any one question.
Remember, on the written test all questions carry the
same point value. After a reasonable amount of time,
guess. Just make sure you make a note of your guesses

In your test booklet, so that you can come back to them if
you have time.

How Important Is Scrap Work on the GRE?

Scrap work on the GRE is important only to the degree
that it is helpful to you. You may write in the test booklet
as much as you choose. Don'’t hesitate to mark key
words or phrases in the verbal and analytical sections.
Do any necessary mathematical calculations on or near
the problem. Since scrap work is not scored, keep it
down to a minimum to save time. Be careful not to do
any scrap work or leave any stray markings on your
answer sheet. The machine that scores the test may mis-
take a stray mark for a second answer and give you no
credit for a question.

Use your test booklet as your guessing guide. Circle any
questions to which you want to return. Cross out any
answer choices you are sure are wrong, so that you
don’t spend time considering them again.

When and Where Is the Test Given?

The GRE is given five times a year at test centers
throughout the world. Tests fall on Saturdays in February,
April, June, October, and December. In June, only the
General Test is given. On the other four dates, the
General Test is given in the morning and the Subject
Tests are given in the afternoon. Candidates whose reli-

gious convictions prohibit their tests on Saturday may
arrange for Monday dates.

In New York State, where public disclosure of standard-

1zed tests is required by law, a curtailed testing schedule
IS in effect.

Your college counseling office will have information about
the exact test dates and should be able to provide you
with a registration form. If a registration form is not avail-
able at your school, request one by mail from Graduate
Record Examinations, Eucational Testing Service, CN
6000, Princeton, NJ 08541-6000. You will receive with it
a copy of the current GRE Information Bulletin, a helpful
booklet containing sample questions and information
about services and fees.

How and When Are GRE Scores Reported?

The General Test raw score, the number of correct
answers, Is converted to a score on a scale of 200 to
800. With no correct answers at all, a student would still
have a score of 200. With one or two unanswered or
iIncorrectly answered questions, a student could still have
a score of 800. Separate scores (from 200 to 800) are
given for the verbal, quantitative, and analytical reason-
INg sections. Your score report will include both your
scaled scores and your percentile rank indicating the
percent of examinees scoring below your scaled scores
on the General Test.

You should recieve your score report in the mail approxi-
mately six weeks after the test date.



What Is the Computerized GRE Option P’ve
Heard Mentioned?

In March 1992 the Graduate Record Examination Board
announced a new option for test-takers: the computer-
ized GRE. In the not-too-distant future, virtually all GREs
will be administered on-line, and students need guidance
in handling this new format of the test. Refer to Chapter
13 for a complete description of this test.

GRE Test Format

The following seven sections are on the written test. You
will be given 30 minutes to complete each of them.

38-question verbal section
38-question verbal section
30-question quantitative section
30-question quantitative section
25-question analytical section
25-question analytical section

an experimental section (which can resemble in content
any of the six sections described above)

These sections always appear on the GRE, but their order
varies. The organization within each section does not vary

greatly; sections will tend to be organized as outlined
below:

Verbal Section

1-7 sentence completion questions
8-~16 analogy questions

17-27 reading comprehension questions
28-38 antonym questions

Quantitative Section

1-15 quantitative comparison questions

16-20 discrete quantitative (standard multiple-choice)
questions

21-25 data interpretation questions (tables/graphs)
26-30 discrete quantitative (standard multiple-choice)
questions

Analytical Section*

1-5 analytical reasoning questions
6-8 logical reasoning questions

9-22 analytical reasoning questions
23-25 logical reasoning questions

The Verbal Sections

The two verbal sections contain four types of questions:
sentence completion, analogy, reading comprehension,
and antonym. Your academic success will depend on
your verbal abilities—especially your ability to under-

*The distribution of questions in the analytical ability section

varies slightly from section to section. Listed here is one of
several possible formats.

What You Need to Know About the GRE 3

stand scholarly prose and to work with specialized and
technical vocabulary.

As in all GRE sections, the questions in the verbal sec-
tions progress from easy to difficult within each group of

the same type of question. In other words, the first anto-
nym question will probably be easier than the last anto-

nym question; the first analogy question will probably be
easier than the last analogy question, and the first sen-
tence completion question will probably be easier than
the last sentence completion question. Reading compre-
hension questions, however, are not arranged in order of
difficulty. They are arranged according to the logic and
organization of the passage on which they are based.

Although the amount of time spent on each type of ques-
tion varies from person to person, in general, antonyms
take the least time, then analogies, then sentence comple-
tions, and, finally reading comprehension. Since reading
comprehension questions take much longer to answer (you
have to spend time reading the passage before you can
tackle the questions), you should do these questions last.

Sentence Completion Questions

The sentence completion questions ask you to choose
the best way to complete a sentence from which one or
two words have been omitted. These questions test a
combination of reading comprehension skills and vocab-
ulary. You must be able to recognize the logic, style, and
tone of the sentence so that you will be able to choose
the answer that makes sense in this context. You must
also be able to recognize differences in usage. The sen-
tences cover a wide variety of topics from a number of
academic fields. They do not, however, test specific aca-
demic knowledge. You may feel more comfortable if you
are familiar with the topic the sentence is discussing, but
you should be able to handle any of the sentences using
your knowledge of the English language.

See Chapter 3 for sentence completion question tactics
and practice exercises that will help you handle these
questions.

Analogy Questions

Analogy questions test your understanding of the rela-
tionships among words and ideas. You are given one
pair of words and must choose another pair that is relat-
ed in the same way. Many relationships are possible.
The two terms in the pair can be synonyms; one term
can be a cause, the other the effect; one can be a tool,
the other the worker who uses the tool.

See Chapter 4 for analogy question tactics and practice
exercises that will help you handle these questions.

Reading Comprehension Questions

Reading Comprehension questions test your ability to
understand and interpret what you read. This is probably
the most important ability you will need in graduate
school and afterward.

As we already noted, reading comprehension questions
take more time than any other questions on the test
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because you have to read a passage before you can

answer them. Therefore, you should do the reading com-
prehension questions last.

Although the passages may encompass any subject mat-
ter, you do not need to know anything about the subject
discussed in the passage in order to answer the ques-
tions on that passage. The purpose of the questions is to
test your reading ability, not your knowledge of history,
science, literature, or art. It is true, however, that you
might feel more comfortable reading a passage on a
topic with which you are familiar. You should, therefore,
skim the passages in each section before you start work-
ing on the reading comprehension questions, and then
start with the questions on the passage with which you
feel most comfortable.

See Chapter 5 for reading comprehension question tac-

tics and practice exercises that will help you handle
these questions.

Antonym Questions

The antonym questions are always the last group of ques-
tions in a verbal section. They are the most straight-forward
vocabulary questions on the test. You are given a word and
must choose, from the five choices that follow it, the best
antonym (opposite). The vocabulary in this section may
well include words that are totally unfamiliar to you.

See Chapter 6 for antonym question tactics and practice
exercises that will help you handle these questions.

The Quantitative Sections

The two quantitative (mathematics) sections have a total
of 60 questions: 30 quantitative comparison questions,
20 discrete quantitative questions (these are actually
standard multiple-choice questions), and 10 data inter-
pretation questions. These questions assume that you
have had, and remember, arithmetic, elementary alge-
bra, and geometry. You do not need to know any more
advanced mathematics. You will be asked to use graphic,
spatial, numerical, and symbolic techniques in a variety
of problems. The questions are intended to show how
well you understand elementary mathematics, how well
you can apply your knowledge to solve problems, and
how good your mathematical instincts are—how well you
can use nonroutine ways of thinking. In one sense, you
need some insight to spot the right approach for solving
any mathematical question. More important, on the GRE,
IS the ability to see which answer must be correct, or at
least which answers are impossible, without actually
solving the problem. This is basically the ability to apply
mathematical rules and principles that you already know.
For example, imagine that you are asked to multiply
27,654 x 3,042. You should see right away that the
answer will have to end in 8. When the multiplicand ends
In a 4 and the multiplier ends in a 2, then the product
must end with an 8. This is a typical illustration of saving
time with insight rather than doing lengthy, time-consum-
ing computation, which, incidentally, may lead to compu-

tational errors. So not only is insight a time-saver, it may
also be an error-saver.

Quantitative Comparison Questions

In quantitative comparison questions, you are given two
quantities. Sometimes you are also given information
about one or both of them. Then you must decide
whether one of the quantities is greater than the other, or
whether they are equal. Sometimes there will not be
enough information for you to be able to make a decision.

These questions reflect the contemporary emphasis on
inequalities in school mathematics courses. In general,
these questions require less time than the other mathe-
matics questions, since they require less reading and,

usually, less computation. These are the only questions
on the GRE that have only four choices.

The testing tactics and practice exercises in Chapter 8
will help you handle these questions.

Discrete Quantitative Questions

The discrete quantitative questions are like the math
questions you are familiar with from math textbooks and
other standardized tests. They will cover only math con-
cepts that you have learned in school, so if a question
seems unusual to you, keep in mind that you probably

know the necessary facts, formulas, and concepts to
work it out.

The testing tactics and practice exercises in Chapter 9
will help you handle these questions.

Data Interpretation Questions

As you might guess from their name, data interpretation
questions are based on information given in graphs or
tables. This type of question tests your ability to integrate
data, to determine what information is needed to answer

a question, or to recognize that you lack sufficient data to
answer a question.

The testing tactics and practice exercises in Chapter 10
will help you handle these questions.

The Analytical Sections

The two analytical ability sections have a total of 50
questions, the bulk of which are analytical reasoning
questions and a small number of which are logical rea-
soning questions. On the analytical sections, your task is
to analyze a passage or set of conditions, reasoning out
its implications, and then answer a question or group

of questions based upon it. Each section begins with
several relatively easy analytical reasoning questions
followed by three relatively easy logical reasoning ques-
tions. These “warm-up” questions are then followed by
additional sets of analytical reasoning questions and
three final logical reasoning questions.



Analytical Reasoning Questions

In analytical reasoning questions, the test-makers make
up an arbitrary set of conditions and leave it up to you to
figure out the relationships ruling them. On the basis of
the statements given, you are to make deductions about
these relationships. Often it is useful to make charts or
diagrams to clarify the relationships and point up con-
flicts between the statements that have been made. You
do not need to have training in formal logic to handle
these questions; however, a liking for puzzles may help.
Pay particular attention to key words: absolute terms like
always, exactly, and never, and relative terms like some-
times, approximately, and almost.

The review of analytical reasoning techniques and prac-

tice exercises in Chapter 12 will help you handle these
questions.

What You Need to Know About the GRE 5

Logical Reasoning Questions

In logical reasoning questions, you are presented with an
argument and must be able to spot its point, recognize
the assumptions that lie behind it, and evaluate its worth.
You must have a sense of what necessarily follows from
a given statement as distinguished from what a state-
ment merely suggests without proof. You must be careful
here to avoid being influenced by your own personal
opinions: your job is to test the argument for its logical

soundness, not to testify or bear witness to the argu-
ment’s ultimate truth.

The review of logical reasoning techniques and practice

exercises in Chapter 12 will help you to handle these
questions.
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The easiest way to answer a question correctly is to know
the answer. If you know what all the words in an antonym
question mean, you won't have any trouble choosing the
right answer. If you know exactly how to solve a mathe-
matics question and make no mistakes in arithmetic, you
won't have any trouble choosing the right answer. How-
ever, some sensible strategies will help you maximize
your score.

The tactics in this chapter apply to all sections of the
paper-and-pencil test. In later chapters you will find tac-
tics that apply specifically to each type of question, as
well as tactics that apply to the computerized test.

1

Know what to expect. By the time you have
finished with this preparation program, you
will be familiar with all the kinds of questions
that will appear on the GRE. You should also
be aware of how long the test is going to take.
There are seven sections. Each one is 30
minutes long, and there is supposed to be a
10-minute break midway through the session.

Tactic i)

Memorize the directions for each type of
question. These don’t change. The test time
you would spend reading the directions can be
better spent answering the questions.

Tactic Jii¢

Don’t get bogged down on any one question.
By the time you get to the actual GRE, you
should have a fair idea of how much time to
spend on each question. |f a question is tak-
Ing too long, guess and go on to the next
question. This is no time to show the world
that you can stick to a job no matter how long
it takes. All the machine that grades the test
will notice is the blank space on your answer
sheet. However, before you move on, circle
the question so that you can locate it quickly if
you have time to come back to it at the end.

Tactic [t

On the other hand, don’t rush. Since your
score will depend on how many correct
answers you give within a definite period of
time, speed and accuracy both count. Don't fall
into the common errors born of haste. Read all

Testing Tactics

the answer choices, not just some. Make sure
you are answering the question asked and
not one it may have reminded you of or one
you thought was going to be asked. Underline
key words like not and except to make sure
that you do not end up trying to answer the
exact opposite of the question asked.

Tactic IS

Eliminate as many wrong answers as you can.
Deciding between two choices is easier than
deciding among five. Even if you have to
guess, every answer you eliminate improves
your chances of guessing correctly.

Tactic s

Change answers only if you have a reason for
doing s0. It's usually best not to change
based on a hunch or a whim.

RETE 7

Answer every question. There is no penalty
for incorrect answers on the General Test. It's
folly to leave any question unanswered.

Tactic

Remember that you are allowed to write In
the test book. You can write anything you
want in the test book. You can and should do
your mathematical computations and analytical
diagrams in the booklet. There is absolutely no
need to try to do them in your head. And if it
helps you to doodle while you think, then doo-
dle away. What you write in the test booklet
does not matter to anyone.

Tactic JiIV

Be careful not to make any stray marks on
the answer sheet. This testis graded by a
machine, and a machine cannot tell the differ-
ence between an accidental mark and a filled-
in answer. When the machine sees two marks,
it calls the answer wrong.

10

Check frequently to make sure that you are
answering the questions in the right spots.




No machine is going to notice that you made

a mistake early in the test by answering ques-
tion 4 in the space for question 5, and that all
your subsequent answers are correct, but are
In the wrong spaces.

11

Get a good night’s sleep. The best way to
prepare for any test you ever take is to get a
good night’s sleep before the test so you are
well rested and alert.

12

Allow plenty of time for getting to the test
site. Taking a test is pressure enough. You
don’t need the extra tension that comes from

worrying about whether you will get there on
time.

13

Bring four sharpened number 2 pencils to the
test. The GRE Information Bulletin tells you

to bring three or four sharpened number 2 pen-

What You Need to Know Aboutthe GRE 7

cils to the test. Why skimp? They don’t weigh
much, and this might be the one day in the
decade when two or even three pencil points
decide to break. And bring full-size pencils,
not little stubs. Bigger ones are easier to write
with, and you might as well give yourself
every advantage.

14

Wear comfortable clothes. This is a test,
not a fashion show. And bring a sweater. The
test room may be hot, or it may be cold. You

can’'t change the room, but you can put on a
sweater.

15

Bring an accurate watch. The room in
which you take the test may not have a clock,
and some proctors are not very good about
posting the time on the blackboard. Each time
you begin a test section, write down in your
booklet the time according to your watch. That
way you will always know how much time you
have left.

Sample GRE Questions™

The purpose of this section is to familiarize you with the
kinds of questions that appear on the GRE by reprinting
questions from recent GREs with the permission of Edu-
cational Testing Service. Knowing what to expect when
you take the examination is an important step in prepar-
Ing for the test and succeeding in it.

Verbal Section
Sentence Completion Questions

Directions: Each sentence below has one or two blanks,
each blank indicating that something has been omitted.
Beneath the sentence are five lettered words or sets of
words. Choose the word or set of words for each blank
that best fits the meaning of the sentence as a whole.

. The paradoxical aspect of the myths about Demeter,
when we consider the predominant image of her as a
tranquil and serene goddess, is her ------- search for
her daughter.

(A) extended (B) agitated
(D) motiveless (E) heartless

(C) comprehensive

2. Since she believed him to be both candid and trust-
worthy, she refused to consider the possibility that
his statement had been ------- .

(B) facetious (C) mistaken

(E) 1nsincere

(A) 1urelevant
(D) critical

3. During the 1960s assessments of the family shifted
remarkably, from general endorsement of it as a
worthwhile, stable institution to widespread ------ it
as an oppressive and bankrupt one whose ------- was
both imminent and welcome.

(A) flight from..restitution

(B) fascination with..corruption
(C) rejection of..vogue

(D) censure of..dissolution

(E) relinquishment of..ascent

4. The sheer bulk of data from the mass media seems to
overpower us and drive us to ------- accounts for an
easily and readily digestible portion of news.

(A) 1nsular

(B) 1nvestigative
(C) synoptic
(D) subjective
(E) sensational

"GRE test questions selected from Practicing to Take the GRE General Test — No. 4, 5, 7, & 8, Educational Testing Service, 1986,
1987, 1989, 1990 Reprinted by permission of Educational Testing Service Permission to reprint the above material does not constitute
review or endorsement by Educational Testing Service of this publication as a whole or of any other testing information it may contain.
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5: People should not be praised tor their virtue 1f they

lack the energy to be ------- , In such cases, goodness
1s merely the effect of ------- .

(A) depraved..hesitation
(B) cruel..effortlessness
(C) wicked..indolence
(D) unjust..boredom
(E) 1niquitous..impiety

Analogy Questions

Directions: In each of the following questions, a related
pair of words or phrases is followed by five lettered pairs
of words or phrases. Select the lettered pair that best
expresses a relationship similar to that expressed in the
original pair.

6. AMORPHOUSNESS : DEFINITION ::
(A) lassitude : energy
(B) spontaneity : awareness
(C) angularity : intricacy
(D) rectitude : drabness
(E) precision : uniformity

7. PHILATELIST : STAMPS ::
(A) numismatist : coins
(B) astrologer : predictions
(C) geneticist : chromosomes
(D) cartographer : maps
(E) pawnbroker : jewelry

8. PROCTOR : SUPERVISE ::
(A) prophet : rule
(B) profiteer : consume
(C) profligate : demand
(D) prodigal : squander
(E) prodigy : wonder

9. FLAG : VIGOR ::
(A) endure : courage
(B) tire : monotony
(C) question : perception
(D) waver : resolution
(E) flatter : charm

10. EMBROIDER : CLOTH ::
(A) chase : metal
(B) patch : quilt
(C) gild : gold
(D) carve : knife
(E) stain: glass

Reading Comprehension Questions

Directions: The passage 1s followed by questions based
on its content. After reading the passage, choose the best
answer to each question. Answer all questions following

the passage on the basis of what 1s stated or implied 1n
the passage.

Visual recognition involves storing and retrieving mem-
ories. Neural activity, triggered by the eye, forms an image
in the brain’s memory system that constitutes an internal

representation of the viewed object. When an object 1s
encountered again, it 1s matched with 1ts internal represen-
tation and thereby recognized. Controversy surrounds the
question of whether recognition is a parallel, one-step
process or a serial, step-by-step one. Psychologists of the
Gestalt school maintain that objects are recognized as
wholes 1n a parallel procedure: the internal representation
1s matched with the retinal image in a single operation.
Other psychologists have proposed that internal represen-
tation features are matched serially with an object’s fea-
tures. Although some experiments show that, as an object
becomes familiar, its internal representation becomes
more holistic and the recognition process correspondingly
more parallel, the weight of evidence seems to support the

serial hypothesis, at least for objects that are not notably
simple and familiar.

11. The author i1s primarily concerned with

(A) explaining how the brain receives images

(B) synthesizing hypotheses of visual recognition

(C) examining the evidence supporting the serial-
recognition hypotheses

(D) discussing visual recognition and some
hypotheses proposed to explain it

(E) reporting on recent experiments dealing with

memory systems and their relationship to
neural activity

12. According to the passage, Gestalt psychologists
make which of the following suppositions about vis-
ual recognition?

I. A retinal image is in exactly the same form as
its internal representation.
II. An object is recognized as a whole without any
need for analysis into component parts.
III. The matching of an object with its internal rep-
resentation occurs in only one step.

(A) II only

(B) III only

(C) Iand III only
(D) II and III only
(E) I, II, and 111

13. It can be inferred from the passage that the matching
process in visual recognition 1s

(A) not a neural activity

(B) not possible when an object 1s viewed for the
very first time

(C) not possible if a feature of a familiar object 1s
changed in scme way

(D) only possible when a retinal image 1s received
in the brain as a unitary whole

(E) now fully understood as a combination of the
serial and parallel processes

14. In terms of its tone and form, the passage can best be
characterized as

(A) abiased exposition

(B) a speculative study

(C) a dispassionate presentation
(D) an indignant denial

(E) a dogmatic explanation
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Antonym Questions 16. LIST: (A) be upside down
(B) beupright (C) slide backward

Directions: Each question below consists of a word (D) sway to and fro (E) lie flat

printed in capital letters, followed by five lettered words

or phrases. Choose the lettered word or phrase that 1s 17. TRACTABLE: (A) distraught (B) irritating
most nearly opposite in meaning to the word 1n capital ' (C) ruthless ' (D) headstrong (E) lazy
letters.

18. PERFIDY : (A) thoroughness (B) generosity
(C) gratitude (D) tact (E) loyalty
15. SYNCHRONOUS ::

(A) off-key (B) out-of-shape 19. DISSEMBLE: (A) act conventionally
(C) without pity (D) out-of-phase (B) puttogether (C) appear promptly
(E) without difficulty (D) behave honestly (E) obtain readily

Quantitative Section
Quantitative Comparison Questions

Directions: Each of the following questions consists of two quantities, one in Column A and one in Column B. You are
to compare the two quantities and choose

A 1f the quantity in Column A 1s greater;

B if the quantity in Column B 1s greater;

C if the two quantities are equal;

D if the relationship cannot be determined from the information given.

Note: Since there are only four choices, NEVER MARK (E).

Common In a question, information concerning one or both of the quantities to be compared is centered above the
Information: two columns. A symbol that appears in both columns represents the same thing in Column A as 1t does
in Column B.

Column A Column B Column A Column B
S
xy <0 s
1 X y 3
The perimeter of the rectangle 1s 16.

The circumference of circle P 1s greater than the
circumference of circle Q. 4. The area of the rectangular 12

region

2. The radius of circle P The diameter of circl .
€ radius or circle ¢ diameter of circle ¢ 5. The average (arithmetic mean) of 10 numbers is 52.

When one of the numbers 1s discarded, the average
s+t=206 of the remaining numbers becomes 53.

3. s + 2t 2s +t

The discarded number 51

Discrete Quantitative Questions

Directions: Each of the following questions has five answer choices. For each of these questions, select the best of the
answer choices given.

0. A dresser drawer contains 15 garments. If 40 percent of

2
those garments are blouses, how many are not blouses?
(A) 6 (B) 8 (C) 9 (D) 10 (E) 12 / \
1 1 1 1 x° x°
7. 1

. : 0
(A) %_ (B) %)Z () % (D) 15% (E) _16%7_ 9. What is the area of the quadrilateral shown above
(A) 2V3 (B) 3v3 (C) 6Vv3 (D)6 (E) 8
8. The length of a rectangular floor is 16 feet and its

width 1s 12 feet. If each dimension were reduced by 10. If the length of each of the sides of three square gar-
s feet to make the ratio of length to width 3 to 2, den plots is increased by 50 percent, by what percent
what would be the value of s ? 1s the sum of the areas of the three plots increased?

(A) O (B) 2 C) 4 (D) 6 (E) 8 (A)375% (B)200% (C)150% (D)125% (E)S50%
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Data Interpretation Questions
Questions 11-15 refer to the following graphs.

11.

12.

13.

Distribution of Earnings and Revenues for Company X, 1978-1983
Electronic and Nonelectronic Operations
(1 billion = 1,000,000,000)

Total Earnings
(in millions of dollars)
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Distribution of Earnings from Nonelectronic Operations, 1983
(in millions of dollars)

Cosmetics

Office
Products

Hardware

Note Drawn to scale Food

Total earnings from operations 1n 1982 were approx-
imately how much more than total earnings from
operations 1n 19787

(A) $100 million
(B) $125 million
(C) $180 million
(D) $340 million
(E) $475 million

For the year in which earnings from electronic oper-
ations first exceeded $400 million, total revenues
were approximately

(A) $2.8 billion
(B) $4.5 billion
(C) $5.2 billion
(D) $5.8 billion
(E) $6.7 billion

In 1979, total earnings for Company X were
approximately what percent of total revenues?

(A) 1%
(B) 5%
(C) 10%
(D) 15%
(E) 60%

Financial

Beverages

14.

[5.

For the two years 1n which earnings from electronic
operations were most nearly equal, the combined
earnirgs from nonelectronic operations were most
nearly

(A)  $340 million
(B)  $520 million
(C) $670 million
(D) $780 mill

lion
(E) $1,520 million

In 1983 earnings from financial nonelectronic

operations accounted for approximately how
many millions of dollars?

(A) 312
(B) 300
(C) 180
(D) 140
(E) 120




Analytical Ability Section
Analytical Reasoning Questions
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Directions: Each question or group of questions is based on a passage or set of conditions. In answering some of the

questions, it may be useful to draw a rough diagram. For each question, select the best answer choice given.

Question 1-4

A cryptanalyst must translate into letters all of the digits

included 1n the following two lines of nine symbols
each:

933456667
223344578

The cryptanalyst has already determined some of the rules

1.

governing the decoding:

Each of the digits from 2 to 9 represents exactly one of
the eight letters A, E, I, O, U, R, S, and T, and each
letter 1s represented by exactly one of the digits.

If a digit occurs more than once, it represents the same
letter on each occasion.

The letter T and the letter O are each represented
exactly 3 times.

The letter I and the letter A are each represented exactly
two times.

The letter E 1s represented exactly four times.

If 2 represents R and 7 represents A, then 5 must
represent

(A) 1
(B) O
(C) S
(D) T
(E) U

. Which of the following 1s a possible decoding of the

five-digit message 4653 6?

(A) O-T-A-E-T
(B) O-T-E-U
(C) O-O-S-E
(D) T-O-I-E-

-T
-0
T

(E) T-O-R-E-T

. If 9 represents a vowel, it must represent which of the

following?

(A) A
(B) E
(C) 1
(D) O
(E) U

. If 8 represents a vowel, which of the following must

represent a consonant’

(A) 2
(B) 4
(C©) 5
(D) 7
(E) 9

Questions 5—7

An instructor regularly offers a six-week survey course
on film genres. Each time the course is given, she covers
six of the following eight genres: adventure films, cinéma
noir, detective films, fantasy films, horror films, musical
comedies, silent films, and westerns. She will discuss

exactly one genre per week according to the following
conditions:

Silent films are always covered, and always in the
first week.

Westerns and adventure films are always covered,
with westerns covered in the week immediately

preceding the week adventure films are covered.
Musical comedies are never covered 1n the same

course 1n which fantasy films are covered.

If detective films are covered, they are covered after
westerns are covered, with exactly one of the other
genres covered between them.

Cinéma noir 1s not covered unless detective films are
covered 1n one of the previous weeks.

. Which of the following is an acceptable schedule of

genres for weeks one through six of the course?

(A) Silent films, westerns, adventure films, detective
films, horror films, musical comedies

(B) Silent films, westerns, adventure films, horror
films, detective films, fantasy films

(C) Fantasy films, musical comedies, detective films,
cinéma noir, westerns, adventure films

(D) Westerns, adventure films, detective films, cin-
éma noir, musical comedies, horror films

(E) Detective films, westerns, adventure films, horror
films, fantasy films, cinéma noir

. If musical comedies are covered the week immedi-

ately preceding the week westerns are covered, which
of the following can be true?

(A) Adventure films are covered the second week.
(B) Cinéma noir i1s covered the fourth week.

(C) Detective films are covered the third week.
(D) Fantasy films are covered the fifth week.

(E) Horror films are covered the sixth week.

. Which of the following will NEVER be covered in the

sixth week of the course?

(A) Cinéma noir

(B) Fantasy films

(C) Horror films

(D) Musical comedies
(E) Westerns
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Logical Reasoning Questions

Directions: Each question or group of questions is based on a passage or set of conditions. In answering some of the

questions, 1t may be useful to draw a rough diagram. For each question, select the best answer choice given.

8.

10.

A study of illusionistic painting inevitably begins
with the Greek painter Zeuxis. In an early work,
which is the basis for his fame, he painted a bowl
of grapes that was so lifelike that birds pecked at
the fruit. In an attempt to expand his achievement
to encompass human figures, he painted a boy
carrying a bunch of grapes. When birds
immediately came to peck at the fruit, Zeuxis
judged that he had failed.

Zeuxis’ judgment that he had failed in his later
work was based on an assumption. Which of the
following can have served as that assumption?

(A) People are more easily fooled by illusionistic
techniques than are birds.

(B) The use of illusionistic techniques in painting
had become commonplace by the time
Zeuxis completed his later work.

(C) The grapes in the later painting were even
more realistic than the ones 1n the earlier
work.

(D) Birds are less likely to peck at fruit when they
see that a human being 1s present.

(E) After the success of his early work, Zeuxis
was unable to live up to the expectations of
the general public.

Dormitories range from two to six stories in

height. If a dormitory room 1s above the second
floor, 1t has a fire escape.

If the statements above are true, which of the
following must also be true?

(A) Second-floor dormitory rooms do not have
fire escapes.

(B) Third-fioor dormitory rooms do not have fire
escapes.

(C) Only dormitory rooms above the second floor
have fire escapes.

(D) Fourth-floor dormitory rooms have fire
escapes.

(E) Some two-story dormitories do not have fire
escapes.

[t 1s important to teach students to use computers
effectively. Therefore, students should be taught
computer programming in school.

Which of the following, if true, most weakens the
argument above?

(A) Only people who use computers effectively
are skilled at computer programming.

(B) Only people skilled at computer programming
use computers effectively.

(C) Some people who use computers effectively
cannot write computer programs.

(D) Some schools teach computer programming
more effectively than others.

(E) Most people who are able to program
computers use computers effectively.

11.

12.

The Census Bureau reported that the median
family income, after adjustment for inflation,
increased 1.6 percent in 1983. Poverty normally
declines when family income goes up, but the
national poverty rate remained at its highest level
in eighteen years in 1983. The Census Bureau
offered two possible explanations: the lingering
eftects of the deep and lengthy 1981-1982
recession, and increases in the number of people
living 1n families headed by women and 1n the
number of adults not living with any relatives.
Both groups are likely to be poorer than the
population as a whole.

Which of the following conclusions can be
properly drawn from this report?

(A) The national poverty rate has increased
steadily over the last eighteen years.

(B) The national poverty rate will increase when
there are lingering effects ot an earlier
recession.

(C) The median family income can increase even
though the family income of some
subgroups within the population declines
or fails to increase.

(D) The category of adults not living with any
relatives 1s the most critical group in the
determination of whether the economy has
improved.

(E) The median family income 1s affected more
by the changes in family patterns than by
the extent of expansion or recession of the
national economy.

Literary historians today have rejected
conventional analyses of the development of
English Renaissance drama. They no longer
accept the idea that the sudden achievement of
Elizabethan playwrights was a historical anomaly,
a sort of magical rediscovery of ancient Greek
dramatic form applied to contemporary English
subject matter. Instead, most students of the
theater now view Elizabethan drama as being
organically related to traditional local drama,
particularly medieval morality plays.

Which of the following is NOT consistent with the
passage above?

(A) England had a dramatic tradition betore the
Renaissance period.

(B) Elizabethan drama, once thought to be a
sudden blossoming forth of creativity, 1s
now seen as part of a historical continuum.

(C) Historians’ views of the antecedents of
English Renaissance drama have changed
considerably.

(D) Current scholarship applies an evolutionary
model to English Renaissance drama.

(E) Although English Renaissance drama treats
English subject matter, its source of form
and method 1s classical Greek drama.
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Answer Key

Verbal Section

] B 6 A 11. D 16. B
2 E 7 A 12. D 17. D
3 D 8 D 13. B 18. E
4. C 9. D 14. C 19. C
5 C 10 A 15. D

Quantitative Section

] D 6 C 11. D

2 D 7 E 12. E

3 D 8 C 13. C

4 C 9 B 14. C

5 B 10. D 15. E

Analytical Ability Section

]. A 5. A 9. D

2. A 6. E 10. C

3. E 7. E 11. C

4. E 8. D 12. E



TEST

l Diagnostic Test
l Answer Key

B Self-Appraisal

A DIAGNOSTIC

B Answer Explanations

This chapter contains a simulated full-length written GRE

test. This Diagnostic Test has 7 sections: 2 verbal, 2
quantitative (math), 2 analytical, and 1 experimental
(which in this case is another quantitative section). Each
section has the same number and type of questions as
you'll find on the paper-and-pencil GRE, and each sec-
tion should be completed in 30 minutes. Taking the
Diagnostic Test will provide you with a fairly accurate

evaluation of what your GRE score would be barring any
special preparation.

After taking the test, score your answers and evaluate
your results, using the self-rating guides provided. (Be
sure also to read the answer explanations for questions

you answered incorrectly and questions you answered
correctly but found difficult.)

You should now be in a position to approach your review
program realistically and allot your time for study. For
example, you should know which topics in mathematics
require review and drill. You should also know which of

your verbal and analytical skills require concentrated
study.

14

By taking note of how many easy (E), medium (M), or
hard (H) questions you answer correctly, you can also
gauge how well you will do, particularly if you plan on
taking the computer adaptive test (CAT). For more infor-
mation on the CAT, refer to Chapter 13.

Simulate Test Conditions

Find a quiet place to work, in order to simulate examina-
tion conditions. Keep an accurate record of your time. If
you complete a section before the suggested time has
elapsed, check your work over and do not start another
section. Don’t be worried, however, if you are not able to
answer all questions in the allotted time. This may also
occur on the actual test. No one is expected to know the
answers to all questions on an aptitude test. Read the
questions carefully. Work carefully and as rapidly as pos-
sible. Do not spend too much time on questions that
seem difficult for you. However, since this is a multiple-
choice test, with no penalty imposed for guessing,
answer every question even if you have to guess.



Answer Sheet — Diagnostic Test

Start with number 1 for each new section.

If a section has fewer than 38 questions, leave the extra spaces blank.
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DIAGNOSTIC TEST

A Diagnostic Test

SECTION 1

Time—30 minutes

38 Questions

Directions: Each sentence below has one or two blanks,

each blank indicating that something has been omitted.
Beneath the sentence are five lettered words or sets of
words. Choose the word or set of words for each blank
that best fits the meaning of the sentence as a whole.

1.

E

(Y

=2

()

Any numerical description of the development of
the human population cannot avoid ------- , simply

because there has never been a census of all the peo-
ple in the world.

(A) analysis

(B) conjecture
(C) disorientation
(D) corroboration
(E) statistics

. Many species of intertidal fish have developed

------- abilities that enable them to ------- a particular

location, generally a tide pool, that provides suit-
able refuge.

(A) foraging...do without
(B) compensatory...aspire to
(C) natural...vanish from
(D) singular...escape from
(E) homing...return to

. There are any number of theories to explain these

events and, since even the experts disagree, it 1s
------- the rest of us 1n our role as responsible schol-
ars to ------- dogmatic statements.

(A) paradoxical for...abstain from
(B) arrogant of...compensate with
(C) incumbent on...refrain from
(D) opportune for...quarrel over
(E) appropriate for...1ssue forth

. It may be useful to think of character in fiction as a

function of two ------- impulses: the impulse to indi-
vidualize and the impulse to ------- .

(A) analogous...humanize

(B) disparate...aggrandize

(C) divergent...typity

(D) comparable...delineate
(E) related...moralize

. Relatively tew politicians willingly forsake center

stage, although a touch of ------- on their parts now

and again might well increase their popularity with
the voting public.

(A) garrulity
(B) misanthropy
(C) self-effacement

(D) self-dramatization
(E) self-doubt

@)

. It 1s this tightly circumscribed choice of scene that
H| gives to Mrs. Woolf’s novels, despite her modernity

17

of technique and insight, their odd and delicious air

of ------- , as of some small village world, as bright

and vivid and perfect in its ------- as a miniature.

(A) anachronism...transience
(B) parochialism...tininess
(C) cynicism...rusticity

(D) intrigue...antiquity

(E) fragility...petiteness

~J

. Lacking the time to examine the treatise in its

H| entirety, the editors asked the author to provide
them with ------- instead.

(A) a compendium
(B) a dissertation
(C) an elaboration
(D) a facsimile
(E) an exegesis

Directions: In each of the following questions, a related
pair of words or phrases is followed by five lettered pairs

of words or phrases. Select the lettered pair that best

expresses a relationship similar to that expressed in the

original pair.

8. CLASP : BRACELET ::
El (A) hook : coat

(B) buckle : belt

(C) diamond : ring

(D) wrist : watch

(E) cuff : trousers

9. SEDAN : AUTOMORBILE ::
E| (A) hangar : airplane

(B) bedspread : bed

(C) rocker : chair

(D) rung : ladder

(E) marble : statue

10. PARDON : OFFENSE ::
E| (A) repent: sin

(B) detect : violation
(C) arraign : indictment
(D) forgive : wrong

(E) surrender : fugitive
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11. CIRCUITOUS : ROUTE ::
(A) problematic : solution
(B) devious : argument
(C) elliptical : brevity

(D) judicious : selection
(E) profound : depth

12. NONPLUSSED : BAFFLEMENT ::
M| (A) discomfited : embarrassment
(B) parsimonious : extravagance
(C) disgruntled : contentment
(D) despicable : contempt
(E) surly : harassment

13. GULLY : CANYON ::
M| (A) eagle : bird
(B) cliff : granite
(C) pebble : boulder
(D) detour : road
(E) shore : lake

. HELPFUL : OFFICIOUS ::

(A) dutiful : assiduous

(B) eftusive : gushing

(C) gullible : incredulous

(D) enigmatic : dumbfounded
(E) deferential : sycophantic

. BRONZE : PATINA ::

(A) wood : veneer
(B) plaque : honor
(C) mold : yeast
(D) 1ron : rust

(E) lead : tin

. MELLIFLUOUS : CACOPHONY ::

(A) dulcet : euphony

(B) compliant : obsequiousness
(C) fragrant : noisomeness

(D) florid : embellishment

(E) thrifty : parsimony

Directions: Each passage in this group is followed by questions based on its content. After reading a passage, choose
the best answer to each question. Answer all questions following a passage on the basis of what is stated or implied in

that passage.

James's first novels used conventional narrative tech-
niques: explicit characterization, action which related
events in distinctly phased sequences, settings firmly out-
lined and specifically described. But this method gradu-
ally gave way to a subtler, more deliberate, more diffuse
style of accumulation of minutely discriminated details
whose total significance the reader can grasp only by con-
stant attention and sensitive inference. His later novels
play down scenes of abrupt and prominent action, and do
not so much offer a succession of sharp shocks as slow
piecemeal additions of perception. The curtain 1s not sud-
denly drawn back from shrouded things, but i1s slowly
moved away.

Such a technique 1s suited to James’s essential subject,
which 1s not human action itself but the states of mind
which produce and are produced by human actions and
interactions. James was less interested in what characters
do, than in the moral and psychological antecedents, real-
1zations, and consequences which attend their doings.
This 1s why he more often speaks of “cases” than of
actions. His stories, therefore, grow more and more
lengthy while the actions they relate grow simpler and
less visible; not because they are crammed with adventi-
tious and secondary events, digressive reliet, or super-
numerary characters, as overstuffed novels of action are;
but because he presents in such exhaustive detail every
nuance of his situation. Commonly the interest of a novel
1s 1n the variety and excitement of visible actions building
up to a climactic event which will settle the outward des-
tinies of characters with storybook promise of perma-
nence. A James novel, however, possesses Its
characteristic interest in carrying the reader through a rich
analysis of the mental adjustments of characters to the
realities of their personal situations as they are slowly

revealed to them through exploration and chance
discovery.

7.

E

19.

The passage supplies information for answering
which of the following questions?

(A) Did James originate the so-called psychological
novel? |

(B) Is conventional narrative technique strictly
chronological in recounting action?

(C) Can novels lacking overtly dramatic incident
sustain the reader’s interest?

(D) Were James’s later novels more acceptable to
the general public than his earlier ones?

(E) Is James unique in his predilection for exploring
psychological nuances of character?

. According to the passage, James’s later novels diftfer

from his earlier ones 1n their

(A) preoccupation with specifically described
settings

(B) ever-increasing concision and tautness of plot

(C) levels of moral and psychological complexity

(D) development of rising action to a climax

(E) subordination of psychological exploration to
dramatic effect

The author’s attitude towards the novel of action
appears to be one of

(A) pointed indignation
(B) detached neutrality
(C) scathing derision

(D) strong partisanship
(E) decided disapprobation



The theory of plate tectonics describes the motions of
the lithosphere, the comparatively rigid outer layer of the
earth that includes all the crust and part of the underlying
mantle. The lithosphere is divided into a few dozen plates
of various sizes and shapes; in general the plates are in
motion with respect to one another. A mid-ocean ndge 1s
a boundary between plates where new lithospheric mate-
rial 1s injected from below. As the plates diverge from a
mid-ocean ridge they slide on a more yielding layer at the
base of the lithosphere.

Since the size of the earth is essentially constant, new
lithosphere can be created at the mid-ocean ridges only if
an equal amount of lithospheric material is consumed
elsewhere. The site of this destruction is another kind of
plate boundary: a subduction zone. There one plate dives
under another and is reincorporated into the mantle. Both
kinds of plate boundary are associated with fault systems,
earthquakes and volcanism, but the kinds of geologic
activity observed at the two boundaries are quite
different.

The 1dea of sea-floor spreading actually preceded the
theory of plate tectonics. The sea-floor spreading hypoth-
esis was formulated chiefly by Harry H. Hess of Prince-
ton University in the early 1960s. In its original version it
described the creation and destruction of ocean floor, but
it did not specify rigid lithospheric plates. The hypothesis
was soon substantiated by the discovery that periodic
reversals of the earth’s magnetic field are recorded in the
oceanic crust. An explanation of this process devised by
F.J. Vine and D.H. Matthews of Princeton 1s now gen-
erally accepted. As magma rises under the mid-ocean
ridge, ferromagnetic minerals in the magma become
magnetized in the direction of the geomagnetic field.
When the magma cools and solidifies, the direction and
the polarty of the field are preserved in the magnetized
volcanic rock. Reversals of the field give rise to a sernies
of magnetic stripes running parallel to the axis of the nft.
The oceanic crust thus serves as a magnetic tape record-
ing of the history of the geomagnetic field. Because the
boundaries between stripes are associated with reversals
of the magnetic field that can be dated independently, the
width of the stripes indicates the rate of sea-floor spread-
ing. (Precisely how the earth’s magnetic field reverses at
intervals of from 10,000 to about a million years contin-
ues to be one of the great mysteries of geology.)

It follows from the theory of sea-floor spreading that
many of the most interesting geologic features of the
earth’s surface are to be found on the ocean floor. The
investigation of such features has been furthered in recent
years by the development of deep-diving manned sub-
mersibles. In particular the U.S. research submersible
Alvin, operated by the Woods Hole Oceanographic Insti-
tution, has proved to be a valuable tool for studies of the
sea bed. A geologist in the Alvin can collect rock samples
and document in detail the setting of each rock. For the
first time a marine geologist can have maps of a site as
precise as those of a geologist on land.
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20. The author’s primary purpose in the passage is to
E

(A) question established data

(B) describe current explorations

(C) trace the development of a theory

(D) propose an alternative solution

(E) explain the reasons behind a phenomenon

21. The passage would be most likely to appear in a
E

(A) congressional report advocating the continued
funding of oceanographic studies

(B) geological research report focused on the likeli-
hood of volcanism along coastal regions

(C) pamphlet designed to acquaint visitors to Woods
Hole with the capabilities of deep-diving
manned submersibles

(D) scholarly monograph proposing an explanation
for the periodic reversals of the earth’s mag-
netic field

(E) scientific journal article summarizing recent
advances in applying plate tectonic theory to
marine geology

22. According to the passage, a mid-ocean ridge differs
M| from a subduction zone in that

(A) it marks the boundary line between neighboring
plates

(B) only the former is located on the ocean floor

(C) it is a site for the emergence of new lithospheric
material

(D) the former periodically disrupts the earth’s geo-
magnetic field

(E) it is involved with lithospheric destruction rather
than lithospheric creation

23. It can be inferred from the passage that as new litho-
M| spheric material is injected from below

(A) the plates become immobilized in a kind of
gridlock

(B) the new material is incorporated into an under-
water mountain ridge

(C) the earth’s total mass 1s altered

(D) the magnetic polarity of the new material 1s
reversed

(E) the immediately adjacent plates sink

24. The passage contains information that would answer

H] which of the following questions about the theory of
sea-floor spreading and the history of the geomag-
netic field?

[. What is the minimum known time span
between reversals of the earth’s magnetic field?
II. What mechanism is responsible for the mag-
netic field’s changes in polanty?
III. Can the pace of sea-floor spreading be deter-
mined from current geomagnetic data?

(A) Ionly

(B) III only

(C) Iand II only
(D) I and Il only
(E) 1, 11, and 11l
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25.

H

20.

27,
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It can be inferred from the passage that a large
increase in the creation of new lithospheric material
would result in

(A) at least a slight decrease in activity along the
subduction zones

(B) at the most a slight increase in activity along the
subduction zones

(C) a correspondingly large increase in activity
along the subduction zones

(D) a cessation of activity along the subduction
Zones

(E) no change in the level of activity along the sub-
duction zones

According to the passage, lithospheric material at
the site of a subduction zone

(A) rises and is polarized

(B) sinks and 1s absorbed

(C) slides and is injected

(D) spreads and is reincorporated
(E) diverges and is consumed

The passage most directly suggests that, before the
recent underwater explorations involving manned
submersibles were undertaken, marine geologists

(A) were negligent in making charts of undersea
sites

(B) underestimated the importance of the litho-
spheric plates

(C) labored under a disadvantage compared to land
geologists

(D) had adequate access to those portions of the sea
bed under study

(E) were ignorant of the sea-floor spreading
hypothesis

Directions: Each question below consists of a word

printed in capital letters, followed by five lettered words
or phrases. Choose the lettered word or phrase that 1s
most nearly opposite in meaning to the word in capital
letters.

Since some of the questions require you to distinguish
fine shades of meaning, be sure to consider all the
choices before deciding which one 1s best.

28.

E

29.

DETERIORATE:
(A) hasten

(B) demolish
(C) alter

(D) unity

(E) improve

EVASIVE:
(A) frank
(B) serene
(C) pensive
(D) mistaken
(E) exuberant

32.

34.

. STREW:

(A) deflate
(B) collect
(C) weaken

(D) cleanse
(E) bolster

. PRODIGAL.:

(A) nomad
(B) sycophant
(C) gifted child

(D) economical person

(E) antagonist

EQUIVOCATE:
(A) yield

(B) distinguish
(C) condescend
(D) pledge

(E) denounce

. CRASS:

(A) small
(B) refined
(C) cheertul
(D) modest
(E) liberal

ARTIFICE:
(A) edifice
(B) sincerity
(C) prejudice
(D) creativity
(E) affirmation

. OPULENCE:

(A) transience
(B) penury

(C) solitude

(D) generosity
(E) transparency

. UNTENABLE:

(A) false

(B) precise

(C) circumscribed
(D) defensible
(E) hypothetical

. SEDULOUS:

(A) pointless
(B) weighty
(C) lugubrious
(D) cursory
(E) tangential

. DISABUSE:

(A) maltreat
(B) wviolate
(C) cancel
(D) deceive
(E) 1involve

S T O P

[F YOU FINISH BEFORE TIME IS CALLED, YOU MAY CHECK YOUR WORK ON THIS SECTION ONLY.
DO NOT WORK ON ANY OTHER SECTION IN THE TEST.
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SECTION 2

Time—230 minutes

38 Questions

Directions: Each sentence below has one or two blanks,
each blank indicating that something has been omitted.
Beneath the sentence are five lettered words or sets of
words. Choose the word or set of words for each blank
that best fits the meaning of the sentence as a whole.

1. There was so much -~---- material in the argu-
E| ment. ideas dragged in without reference to the
case, that it was singularly ----~- to grasp the

budding lawyer’s point.

(A) exceptional...unrewarding
(B) variegated...effortless

(C) hypothetical...superfluous
(D) superficial...irrelevant

(E) extraneous...difficult

2. Since the propensity to migrate has persisted in
E|l every epoch, its explanation requires a theory -------
any particular period of time.

(A) tailored to

(B) unconscious of
(C) 1napplicable to
(D) independent of
(E) anomalous in

3. The earth is a planet bathed in light; it 1s therefore
E| -——-- that many of the living organisms that have
evolved on the earth have ------- the biologically
advantageous capacity to trap light energy.

(A) anomalous...engendered
(B) unsurprising...developed
(C) predictable...forfeited
(D) problematic...exhibited
(E) expectable...relinquished

4. According to one optimistic hypothesis, the dense
M| concentration of entrepreneurs and services in the
cities would incubate new functions, ------- them,
and finally export them to other areas, and so the
cities, forever breeding fresh ideas, would -------
themselves repeatedly.

(A) 1mmunize...perpetuate
(B) 1solate...revitalize

(C) foster...deplete

(D) spawn...imitate

(E) nurture...renew

5. Manisa ------- animal, and much more so in his
M| mind than in his body: he may like to go alone for a
walk, but he hates to stand alone in his ------- .

(A) gregarious...opinions
(B) conceited...vanity
(C) singular...uniqueness
(D) solitary...thoughts
(E) nomadic...footsteps

6.
H

~J

Although Mrs. Proudie ------- an interest in the spir-
itual well-being of the parishioners, in actuality her

concern for their welfare was so ------- as to be prac-
tically nonexistent.

(A) confessed...circumstantial
(B) manifested...exemplary
(C) simulated...profound

(D) feigned...negligible

(E) expressed...moribund

. 'The term baroque, originally applied to the lavishly

and grotesquely ornamerjted style of architecture
that succeeded the Renaissance, is used generally in
literary criticism to describe excessive or grandilo-
quent works that lack ------- of style.

(A) diversity

(B) economy

(C) prolixity

(D) adornment
(E) comprehension

Directions: In each of the following questions, a related

pair of words or phrases is followed by five lettered pairs
of words or phrases. Select the lettered pair that best
expresses a relationship similar to that expressed 1n the
original pair.

8.

E

PROLOGUE : PLAY ::

(A) chapter : novel

(B) overture : opera

(C) intermezzo : symphony
(D) epilogue : oration

(E) gesture : pantomime

. SERRATIONS : SAW ::

m

(A) 1ncisions : scalpel

10.

E

(B) butchery : cleaver
(C) mortar : trowel
(D) cogs : gear

(E) division : ruler

THIRST : DRIVE ::

(A) 1inebriety : excess
(B) success : ambition
(C) indifference : passion
(D) taste : gusto

(E) smell : sense

. SPIKE : SLEDGE ::

(A) runner : sleigh
(B) pole : ski

(C) nail ; hammer
(D) clip : paper
(E) trestle : train
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12. EPHEMERAL : PERMANENCE ::

M| (A) erratic : predictability

(B) immaculate : cleanliness
(C) commendable : reputation
(D) spurious : emulation

(E) mandatory : obedience

13. CHAFF : WHEAT ::

M! (A) mote : dust

(B) gold : lead
(C) dregs : wine
(D) loaf : bread
(E) yolk : egg

. OGLE : OBSERVE ::
(A) haggle : outbid
(B) clamor : dispute

|~

(C) discern : perceive
(D) flaunt : display
(E) glare : glower

U

. ABSTEMIOUS : ABSTINENCE ::
H| (A) irascible : militancy

(B) gregarious : reticence

(C) truculent : dogmatism

(D) comatose : sobriety

(E) pusillanimous : cravenness

N

. INELUCTABLE : AVOID ::
H! (A) ineffable : utter

(B) impalpable : desire

(C) impermeable : endure
(D) 1rascible : provoke

(E) 1irreconcilable : estrange

Directions: Each passage in this group is followed by questions based on its content. After reading a passage, choose
the best answer to each question. Answer all questions following a passage on the basis of what is stated or implied in

that passage.

During the decade of 1880—1890 it was becom-
Ing increasingly evident that the factors which had
brought about the existence of two separate suf-
frage institutions were steadily diminishing in

(5) importance.

The National Woman Suffrage Association had
been launched by the intellectually irrepressible
Elizabeth Cady Stanton and the ever catholic Susan
B. Anthony. Both were ready to work with any-

(10) one, whatever their views on other matters, as long
as they wholeheartedly espoused woman suffrage.
Consequently in its earlier years the National was
both aggressive and unorthodox. It damned both
Republicans and Democrats who brushed the suf-

(15) frage question aside. It was willing to take up the
cudgels for distressed women whatever their cir-
cumstances, be they *“‘fallen women,” divorce
cases, or underpaid seamstresses.

The American Woman Suffrage Association, by

(20) contrast, took its tone and outlook from a New En-
gland which had turned its back on those fiery days
when abolitionists, men and women alike, had
stood up to angry mobs. Its advocacy of worthy
causes was highly selective. Lucy Stone was not

(25) interested in trade unionism and wished to keep the
suffrage cause untarnished by concern with divorce
or “the social evil.” The very epitome of the Amer-
Ican’s attitude was its most distinguished convert
and leader, Julia Ward Howe — erudite, honored

(30) lay preacher, the revered author of “The Battle
Hymn of the Republic,” who cast a highly desira-
ble aura of prestige and propriety over the women’s
cause.

It was not that Mrs. Howe in herself made suf-

(35) frage respectable; she was a symbol of the forces
that were drawing the suffrage movement into the
camp of decorum. American socicty was becoming

rapidly polarized. The middle class was learning to
identify organized labor with social turmoil. A
(40) succession of strikes during the depression of

1873—1878, in textiles, mining, and railroads, cul-
minated in the Great Railroad Strike of 1877
involving nearly 100.000 workers from the Atlan-
tic coast to the Mississippi valley; they did not help

(45) to reassure women taught by press and pulpit to
identify any type of militancy with radicalism. Nor
was this trend allayed by the hysteria whipped up
over the Molly Maguire trials for secret conspiracy
among Pennsylvania coal miners, or the alleged

(50) communistic influences at work in such growing
organizations as the Knights of Labor and the A.F.
of L. The existence of a small number of socialists
was used to smear all organized labor with the taint
of “anarchism.” The crowning touch took place

(35) during the widespread agitation for an eight-hour
day in 1886 when a bomb, thrown by a hand
unknown to this day into a radical meeting in Chi-
cago’s Haymarket Square, touched off a nation-
wide wave of panic.

(60)  The steady trend of the suffrage movement
toward the conservative and the conventional dur-
ing the last twenty years of the nineteenth century
must be viewed in this setting, in order to avoid the
misconception that a few conservative women took

(65) 1t over, through their own superior ability and the
passivity of the former militants. Even the latter
were changing their views, judging by their
actions. It was one thing to challenge the proprie-
ties at the Centennial of 1876; ten years later it

(70) would have been inconceivable even to the women
who took part in the demonstration. Susan Anthony
herself would have thought twice about flouting
Federal election laws and going to jail in an era
which witnessed the Haymarket hysteria.
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The author’s primary purpose in the passage 1s to

(A) contrast Susan B. Anthony with Julia Ward
Howe

(B) recount the advances in the suffrage movement
from 1880 to 1890

(C) account for the changes occurring in the suf-
frage movement from 1880 to 1890

(D) explain the growing divisions within the wom-
en’s movement

(E) point out aspects of the suffrage movement
that exist in contemporary feminism

. Which of the following statements is most compati-

ble with the early principles of the National as
described in the passage?

(A) Advocates of suffrage should maintain their dis-
‘tance from socially embarrassing “allies.”

(B) Marital and economic issues are inappropriate
concerns for the suffrage movement.

(C) Propriety of behavior should characterize repre-
sentatives of the women’s cause.

(D) A nominal espousal of woman suffrage 1s wor-
thy of suffragist support.

(E) The concerns of all afflicted women are the con-
cerns of the suffrage movement.

The passage singles out Julia Ward Howe as an
example of

(A) avenerated figurehead
(B) an overzealous advocate
(C) a heterodox thinker

(D) an ordained cleric

(E) a militant activist

. Which of the following titles best describes the con-

tent of the passage?

(A) Trade Unionism and the Suffrage Movement

(B) Egalitarianism at the Close of the Nineteenth
Century

(C) Rifts in the Woman Suffrage Movement

(D) Diminution of Radicalism in the Woman Suf-
frage Movement

(E) Political Polarization in American Society

The author’s attitude toward the public reaction to
the Molly Maguire trials is that the reaction was

(A) appropriate
(B) disorganized
(C) overwrought
(D) necessary
(E) understated

22. As used in the passage, the phrase “ever catholic”

(line 8) refers primarily to Anthony’s

(A) deep religious beliefs
(B) inclusive sympathies
(C) willingness to work
(D) wholehearted feminism
(E)~parochial outlook

A Diagnostic Test 23

23. The author stresses the growing antiradical bias of

H| the American middle class during the decade 1880
1890 in order to

(A) question a trend that proved destructive to the
suffrage movement

(B) explain the unexpected emergence of an able
body of conservative leaders

(C) refute the contention that Anthony was
unchanged by her experiences

(D) correct a misapprehension about changes in the
suffrage movement

(E) excuse the growing lack of militancy on the part
of the National

24. The passage suggests that, by 1890, attempts to

H| effect woman suffrage by violating the proprieties
and defying Federal laws would probably have been
viewed even by movement members with

(A) 1ndifference
(B) defiance

(C) disapprobation
(D) respect

(E) optimism

Perhaps the first point to grasp about natural selection
is that a complex creature, or even a complex part of a
creature, such as the eye, did not arise in one evolution-
ary step. Rather it evolved through a series of small
steps. Exactly what is meant by small is not necessarily
obvious since the growth of an organism is controlled
by an elaborate program written in its genes. Sometimes
a small change in a key part of the program can make a
large difference. For example, an alteration in one gene
in Drosophila can produce a fruitfly with legs in place of
1ts antennae.

Each small step 1s caused by a random alteration in the
genetic instructions. Many of these random alterations
may do the organism no good (some may even kill it
before it is born), but occasionally a particular chance
alteration may give that particular organism a selective
advantage. This means that in the last analysis the
organism will, on average, leave more offspring than it
would otherwise. If this advantage persists in its descen-
dants then this beneficial mutant will gradually, over
many generations, spread through the population. In
favorable cases every individual will come to possess
the improved version of the gene. The older version will
have been eliminated. Natural selection is thus a beau-
tiful mechanism for turning rare events (strictly, favor-
able rare events) into common ones.

25. The author’s primary purpose in introducing the ref-
E| erence to Drosophila is to

(A) indicate his familiarity with laboratory experi-
ments on fruit flies

(B) describe the process by which a genetic altera-
tion transfroms the body

(C) provide a vivid illustration of extreme effects of
a slight genetic change
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(D) offer a paradigm of favorable genetic mutation 31. LATE-BLOOMING:

(E) demonstrate that it took several evolutionary El (A) flourishing
steps for the fruit fly to reach its present form (B) blatant
(C) punctilious
26. The passage indicates that the nature of a selective (D) embryonic
M| advantage is (E) precocious
(A) 1mmutable
(B) reproductive 32. HONE:
(C) limited M| (A) brqaden
(D) mental (B) twist
(E) 1inequitable (C) dull
(D) weld
27. The author’s attitude towards the process of natural (E) break
El selection can best be described as one of
(A) mild skepticism 33. PHLEGMATIC:
(B) puzzled fascination M| (A) dogmatic
(C) controlled apprehension (B) ardent
(D) appreciative admiration (C) haphazard
(E) lofty detachment (D) self-assured

(E) abstracted

34. BANALITY:

M| (A) tentative interpretation
(B) concise summation
(C) accurate delineation
(D) laudatory remark
(E) novel expression

Directions: Each question below consists of a word
printed in capital letters, followed by five lettered words
or phrases. Choose the lettered word or phrase that 1s

most nearly opposite in meaning to the word in capital
letters.

35. ERUDITE:

M| (A) unhealthy
(B) 1gnorant
(C) impolite
(D) indifferent

Since some of the questions require you to distinguish (E) imprecise

fine shades of meaning, be sure to consider all the

choices before deciding which one is best.

36. PLETHORA:

28. TERMINATE: H| (A) despair

E] (A) depart (B) denial
(B) prevent (C) avarice
(C) begin (D) aversion
(D) hasten (E) scarcity
(E) change

37. CURRENCY:

H| (A) refractoriness
(B) obsolescence
(C) artificiality

29. PROTRACT:
E| (A) abbreviate
(B) distract

(C) reject (D) insolvency
(D) stabilize (E) fluency
(E) oppose

30. VOLUBILITY: 38. SKIRT:

E| (A) shabbiness Hl (A) embroider
(B) brevity (B) revert
(C) disparity (C) address
(D) subtlety (D) disport
(E) lucidity (E) brook

S T O P

IF YOU FINISH BEFORE TIME IS CALLED, YOU MAY CHECK YOUR WORK ON THIS SECTION ONLY.
DO NOT WORK ON ANY OTHER SECTION IN THE TEST.
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SECTION 3
Time—30 minutes
30 Questions

Numbers: All numbers used are real numbers.

Figures: Position of points, angles, regions, etc., can be assumed to be in the order shown; and angle measures can

be assumed to be positive.

Lines shown as straight can be assumed to be straight.
Figures can be assumed to lie in a plane unless otherwise indicated.

Figures that accompany questions are intended to provide information useful in answering the questions.
However, unless a note states that a figure is drawn to scale, you should solve these problems NOT by

estimating sizes by sight or by measurement, but by using your knowledge of mathematics (see Example
2 below).

Directions: Each of the Questions 115 consists of two quantities, one in Column A and one in Column B. You are to
compare the two quantities and choose

A 1f the quantity in Column A is greater;

B ift
C ift

ne quantity in Column B 1s greater;
ne two quantities are equal;

D if the relationship cannot be determined from the information given.
Note: Since there are only four choices, NEVER MARK (E).
Common
Information: In a question, information concerning one or both of the quantities to be compared is centered above the
two columns. A symbol that appears in both columns represents the same thing in Column A as it does in
Column B.
Column A Column B Sample Answers
Example 1: 2 X 6 2+ 6 - SONONONG,
Examples 2-4 refer to A POR.
R
yO
w®/z°
P N O

Example 2: PN NQ ONCNOX  XG

(since equal measures cannot

be assumed, even though PN

and NQ appear equal)
Example 3: X y OX JONONG,

(since N 1s between P and Q)
Example 4: W+ z 180 ONGX - RONG

(since PQ is a straight line)
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A 1f the quantity in Column A 1s greater;

B if the quantity in Column B 1s greater;

C if the two quantities are equal;

D 1f the relationship cannot be determined from the information given.

Column A Column B Column A Column B
n>1 A
1. n+7+n—3 n + 19
3 4 7 E |
gl c

0.1lv+0.01ly=2.2
Area of triangle ABC = 18

2. 0.1y 20 E AB 1 BC
9. Length of AB Length of BC
3. Reciprocal of 4 | E
16 E 10. 120 \/1440 -
4. 3 teet, 5 inches 1.5 yards E Sam 1s older than Mary and Mary 1s younger than
Rose.
x=6+7+8+9 + 10 11 Sam’ Rose’s age
y=5+6+7+8+9 ' am S age M N
d. 5(15) x+y E Area of triangle ABC = 20 in?
AD = 5Sinches and AD 1 BC
In this multiplication problem each symbol repre- A
sents a digit. Assume that the multiplication proc-
ess 1S correct.
5678
X 73
1704
39740 8 5 —
414494 .
12. 4 inches Length of DC M
6. Value of A\ Valueof O g
4x = 4(14) — 4
7 X 14 -
Joan covered 36 miles in 45 minutes.
8. Joan’s average speed 48 miles per hour 13 7 —y 40

(1in miles per hour)
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A if the quantity in Column A is greater;

B if the quantity in Column B is greater;

C 1if the two quantities are equal;

D if the relationship cannot be determined from the information given.

Column A Column B Column A Column B

a>b>c>d>0

14. a—d b—c

In triangle ABC, AC = BC
BC || DE and x = 65

15. X 3

Directions: Each of the Questions 16-30 has five answer choices. For each of these questions, select the best of the
answer choices given.

16. Which of the following has the largest numerical
E

value?

(A) GE.;_S (B) 9§§ (C) (0.8 (D) VOB (E) 0.8

17. It 17xy + 7 = 19xy, then 4xy =
E | 5
(A) 2 (B)3 (O) 35 (D) 7 (E) 14

AN

20. The length and width of rectangle AEFG are each %

M| of the corresponding parts of ABCD. AEB = 12,
18. The average of two numbers i1s XY. If one number 1s AGD = 6. The area of the shaded part is
E| equal to X, the other number 1s equal to (A) 24
(A) Y (B) 32
(B) 2Y (C) 36
(C) XY — X (D) 40
(D) 2XY — X (E) 48

(E) XY — 2X

19. A snapshot 1% inches X 2% inches is to be enlarged

so that the longer dimension will be 4 inches. What
will be the length (in inches) of the shorter
dimension?

(A) 2-3— (B) 2% (C)3 (D) 3% (E) 3-:1-2-
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Questions 21-25 refer to the following graphs.

HOMETOWN SAVINGS BANK
Number of Depositors How the Savings Bank Puts
(1in thousands) Your Money to Work for You
2001 T
150+
N X )‘E T
] &@%\\} TR
100 ‘0\0 oS OOS,\\’O{S X* +
SRVD: /] T 1]
PP
AN Cash
\ /x/ Number of Christmas on q
50— 3L Club Depositors Han
XK 1 1
T T ]
i + 4 + jH
Se— 1 4 | + — + 4 4 -
H — —L 4 |
'e - ve -
~ o0 o0 @)\
S S S S
21. How many thousands of regular depositors did the 25. The average annual interest on mortgage invest-
E| bank have in 19807 M| ments is m percent and the average annual interest
(A) 70 (B) 85 (C) 95 (D) 100 (E) 950 on the bond investment 1s b percent. If the annual

interest on the bond investment 1s x dollars, how

many dollars are invested in mortgages?
22. In 1979 what was the ratio of the number of

E| Christmas Club depositors to the number of regular

xm
depositors? (A) b
2 2 ] 7 3 xb
A5 BT ©5 Dg B3 (B) 7
(C) 100xb
23. Which of the following can be inferred from the "
E| graphs? bx
(D) 100m

I. Interest rates were static in the 1980-1983
period. (E)
II. The greatest increase in the number of
Christmas Club depositors over a previous year
occurred in 1984.
III. Hometown Savings Bank invested most of its
assets in stocks and bonds.

(A) ITonly (B) Honly (C) III only
(D) Iand III (E) II and III

200x
b

24. About how many degrees (to the nearest degree) are
E| in the angle of the sector representing mortgages”?

(A) 59 (B) 106 (C) 211 (D) 246 (E) 318




10[_1:—# :1

| A
8 ——+ "

B
Ein

B 45 5
| EEE T |
5 e
it T N
N P N

T T

—ﬁ

S .
JLJQ

-4
4

J I S S .

29.

0 2 4 6

1
o 12 14

8 1

26. What 1s the area of ABCD?
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The afternoon classes in a school begin at 1:00
P.M. and end at 3:52 p.M. There are 4 afternoon
class periods with 4 minutes allowed between

periods for passing to classes. The number of min-
utes in each class period 1s

(A) 39
(B) 40
(C) 43
(D) 45
(E) 59

E 30. The average of P numbers is x, and the average of
(A) 24 Hl N numbers is y. What is the average of all the (P +
(B) 30 N) numbers?
(C) 35
(D) 36 x +y
(E) 48 (A) 5

27. Ifx* + 2x —8 = 0, then x is either —4 or (B) x +y
E Py + Nx
(C)
ES; -2 xy(P + N)
— 1
© 0 (D) 53—
D) 2 P+ N
E P
(E) 8 (E) ; + Ny
+ N
28. The distance between two points is correctly

E| expressed as either 720 statute miles or 630 nauti-
cal miles. Which of the following most closely
approximates the value of one statute mile in terms
of nautical miles?

(A) 0.88
(B) 0.89
(C) 0.90
(D) 1.14
(E) 1.25
S T O P

IF YOU FINISH BEFORE TIME IS CALLED, YOU MAY CHECK YOUR WORK ON THIS SECTION ONLY.
DO NOT WORK ON ANY OTHER SECTION IN THE TEST.
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SECTION 4

Time—230 minutes

30 Questions

Numbers: All numbers used are real numbers.

Figures: Position of points, angles, regions, etc., can be assumed to be in the order shown; and angle measures
can be assumed to be positive.

Lines shown as straight can be assumed to be straight.
Figures can be assumed to lie in a plane unless otherwise indicated.

Figures that accompany questions are intended to provide information useful in answering the questions.
However, unless a note states that a figure 1s drawn to scale, you should solve these problems NOT by

estimating sizes by sight or by measurement, but by using your knowledge of mathematics (see Example
2 below).

Directions: Each of the Questions 1-15 consists of two quantities, one in Column A and one in Column B. You are to
compare the two quantities and choose

A if the quantity in Column A 1s greater;

B if the quantity in Column B i1s greater:

C if the two quantities are equal;

D 1f the relationship cannot be determined from the information given.

Note: Since there are only four choices, NEVER MARK (E).

Common

Information: In a question, information concerning one or both of the quantities to be compared is centered above the

two columns. A symbol that appears in both columns represents the same thing in Column A as it does
in Column B.

Column A Column B Sample Answers

Example 1: 2 X 6 2+ 6 . NONORONG,

Examples 2-4 refer to A\ POR.

Example 2: PN NO ®®C0C0®

(since equal measures cannot
be assumed, even though PN
and NQ appear equal)

Example 3: X v O JONONG
(since N 1s between P and Q)

Example 4: w+ z 180 ONOX _NONG

(since PQ is a straight line)
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A 1f the quantity in Column A is greater;
B if the quantity in Column B is greater;

C if the two quantities are equal;

D if the relationship cannot be determined from the information given.

Column A Column B

1. The number of integers  The number of integers

from —S5to +5 from +5to + 15 E

The area of square ABCD 1is 25.

Column A Column B

10. a 7

2. AB + BC + CD 20 E
x = 0.5
3 4x x4 E
x> 1
4 X 1
]_x x—l E

The perimeter of triangle ABC = the perimeter of
tnangle DEF.

5. Areaoftniangle ABC  Areaof tnangle DEF

M
x—y=1
11. x+y 14 M
The area of isosceles right triangle ABC is 18.
12. Length of leg AB Length of hypotenuse
AC
M
Questions 13 and 14 refer to the following diagram.
A 8
D C
ABCD is asquare.  Diagonal BD = 6\/2
13.  Perimeter of ABCD. 24 T
14. Area of ABD 18 M

E
The sum of five consecutive integers is 35.
6. The value of the great- 9
est of these integers E
7. V160 3V10 E
A
X Yy
B C
AB = BC = AC
8. 2x y E
The gasoline tank is two-thirds full with 12 gallons
of gasoline.
9. The capacity of this 20 gallons
tank E

In tnangle ABC, AB = BC, and the measure of
angle B = the measure of angle C.

15. The measure of angle B The measure of angle B

+ the measure of angle  + the measure of angle
C A v
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Directions: Each of the Questions 16-30 has five answer choices. For each of these questions, select the best of the

answer choices given.

m|on

m

20.

. It tour cows produce 4 cans of milk in 4 days, how

many days does 1t take eight cows to produce 8 cans
of milk?

(A)l (B)2 (C)4 (D)8 (E) 16

. A quart of alcohol containing %— pint of pure alcohol

s diluted by the addition of 1; pints of distilled

water. How much pure alcohol 1s contained in the
diluted alcohol?

(A) % pint
(B) I%pints

(C) 2 pints
(D) 3 pints

(E) 35 pints

. If 20 teachers out of a faculty of 80 are transferred,

what percentage of the original faculty remains?
(A)4 (B)l6 (C)25 (D)e60 (E)75

. The total weight of three children is 152 pounds and

4 ounces. The average weight is 50 pounds and

(A) %pound
(B) —é—pound

(O) 1%— ounces

(D) 9 ounces
(E) 12 ounces

Thirty prizes were distributed to 5 percent of the
original entrants in a contest. Assuming one prize

per person, the number of entrants in this contest
was

(A) 15 (B)60 (C) 150 (D) 300 (E) 600

Questions 21-25 refer to the following chart and graph.

CALORIES

Composition of Average Diet

Grams Calories
Carbohydrates 500 2,050
Protein 100 410
Fat 100 930
Calories Required Per Day
Calories by Boys and Girls
4,000 v rv 1T T T T T T
111
3,000 TT T T TAA < -
tJ# | | /+, [ | g ] \¢—~
2,000 fJ* T = /1 4 A 1
N e £ S o S e e
1,000 +—=4- A A
11 t ‘FT % 11111
1 T 4 4 + S
2 4 6 8 1012 14 16 18
Age in Years Boys
Girls —- -
21. How many calories are there in 1 gram of
E|{ carbohydrate?
(A) 0.2 (B) 2 (C) 4.1 (D) 10.25 (E) 1,025

22. What percent (to the nearest %) of the total calories
E| in the average diet is derived from proteins?

(A) 12 (B) 14 (C)22 (D)27 (E)32

23. Approximately how many more calories per day are
E| required by boys than girls at age 177

(A) 800
(B) 1,000
(C) 2,500
(D) 3,500
(E) 4,000
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E

25.

Which of the following can be inferred from the
graphs?

I. Calorie requirements for boys and girls have
similar rates of increase until after age 12 to 13.
II. From ages 4 to 12 calorie requirements for boys
and girls are wholly dissimilar.
III. Calorie requirements for boys and girls reach
their peaks at different ages.

A) Tonly (B)IIonly (C)IIlonly
(D) TandIII (E) II and III

How many grams of carbohydrate (to the nearest

gram) are needed to yield as many calories as 1,000
grams of fat?

(A) 1,110
(B) 2,050
(C) 2,268
(D) 4,100
(E) 4,536

. To cross a ferry the total cost 7 is 50 cents for the car

and driver and ¢ cents for each additional passenger
in the car. What is the total cost for a car with n per-
sons 1n the automobile?

(A) n + ¢

(B) 50 + nc

(C) cn

(D) 50 + c(n — 1)
(E) 50 + (n + 1)c

. Gloria wants to make some candy using a recipe that

calls for 1% cups of sugar, % cup of boiling water and

several other ingredients. She finds that she has only

I cup of sugar. How much water will she have to
use?

1
(A) 6 Cup
1
(B) 4 Cup
(C) 5 cup

(D) %cup
(E) 1cup

28.

9
\O

30.
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How many pounds of baggage are allowed for a
plane passenger if the European regulations permit
20 kilograms per passenger? (1 kg = 2.2 1b)

(A) 11 (B)y44 (C) 88 (D)91 (E) 440

. Which of the following statements 1s (are) always

true? (a, b, and ¢ are real and not equal to zero.)

I éis less than a.

a + b 2b
II. S equals T g when a equals b.

a + c. a
. 518 morethan-—[;,

(A) II only

(B) I'and II only

(C) Iand III only
(D) H and I1I only
(E) I, II, and III

lfs_)_)_t=‘:j__;,theny=
(A) — s —t

(B) t — s

(C)t+ s

(D) s — ¢

(E) £* — s*

S T O P

IF YOU FINISH BEFORE TIME IS CALLED, YOU MAY CHECK YOUR WORK ON THIS SECTION ONLY.

DO NOT WORK ON ANY OTHER SECTION IN THE TEST.
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SECTION 5

Time—230 minutes

25 Questions

Directions: Each question or group of questions is based on a passage or set of conditions. In answering some of the
questions, it may be useful to draw a rough diagram. For each question, select the best answer choice given.

Questions 1-4

Michael attends Saddle Rock School on the 9:00-3:00
session, except on Thursdays, when he is dismissed at
noon so the teachers can conduct special help classes and
parent conferences. Michael takes a piano lesson at
home on Mondays from 3:30 to 4:30. On Tuesdays he
goes to a karate class from 4:00 to 6:00. His art class
meets from 4:00 to 6:00 on Wednesdays. He remains in

school after dismissal on Fridays to participate in a 90-
minute club program.

1.

o

m

W

=

The most convenient afternoon for Michael to do

E| library research is

(A) Tuesday
(B) Wednesday
(C) Thursday
(D) Fniday

(E) Monday

. Keeping the same 3:30-4:30 schedule, Michael can

conveniently change his piano lesson to which of the
following days?

(A) Monday
(B) Tuesday
(C) Wednesday
(D) Thursday
(E) Fnday

. Michael is chosen to play for the varsity basketball

team. To attend daily 5:00 P.M. practice sessions, he

will have to suspend which of the following
activities?

(A) Piano instruction and karate

(B) Karate and the club program

(C) The art class and the club program
(D) Piano instruction and the art class
(E) The art class and karate

. Michael was invited to replace his 4:00-6:00 P.M.

art class with an advanced art class that meets at the
same time. He could accept this advancement with-
out interfering with his other activities if the class
met on which of the following days?

(A) Mondays and Wednesdays
(B) Tuesdays and Wednesdays
(C) Wednesdays and Thursdays
(D) Thursdays and Fridays

(E) Mondays and Thursdays

S.

E

=l

~]

Sarah: Only General Council members sit on the

President’s Cabinet.

Charles: That’s not true. Dr. Grogan is a General
Council member and she’s not on the Pres-

ident’s Cabinet.

Charles’s response implies that he incor-
rectly interpreted Sarah’s statement to
mean that

(A) all Cabinet members are on the General Council

(B) Dr. Grogan sits on the President’s Cabinet

(C) all members of the General Council sit on the
President’s Cabinet

(D) no General Council members are on the Presi-
dent’s Cabinet

(E) Dr. Grogan is not a General Council manager

. The only unemployment problem we have is not that

people can’t find work, but that they won’t work.
Thousands of jobs go begging every day, but the
unemployed are too lazy to go out and find them.

The above argument would be more persuasive if 1t
were established that

(A) the majority of available jobs require unusually
high levels of skill or experience or both
(B) unemployed persons tend to be geographically

clustered in regions distant from available
jobs

- (C) most unemployed persons are back at work

within six months
(D) most unemployed persons do not seek work
until their unemployment benefits expire
(E) ahigh unemployment rate has been fostered by
the government in order to control inflation

. My father, my three uncles, and both my grandfa-

thers became bald within five years after they began
practicing law. I don’t want to lose my hair, so I'm
going to become a doctor.

Which of the following most closely resembles the
reasoning used in the argument above?

(A) Every time I drink coffee before going to bed, I
have trouble falling asleep. I want to sleep
well tonight, so I’'m going to take a sleeping
pill.

(B) All of the teenagers in my neighborhood have
gotten tickets for speeding on Dole Road
within the last year. I don’t want to have to

pay a fine, so I’m not going to speed on Dole
Road.



(C) Everyone else got transferred out of our depart-
ment within three years after starting work
here. I don’t want to work in another depart-
ment, so ['m going to start working harder.

(D) The other punch press operators on my shift
each were seriously injured on the job within
a week after eating at Rosie’s Diner. I want to
maintain my safety record, so I’m going to
eat at Harry’s Luncheonette.

(E) The three other men in my bridge club each
became irritable after they quit smoking. I
want to be more pleasant, so I’m going to quit
my bridge club.

Questions 8—12

The Berkeley-Sothenay Gallery displays seven paintings,
one each by Degas, Ernst, Fragonard, Greuze, Hartley,

Ingres, and Johns. Each has been valued by the Gallery’s
curator.

The value of the Johns is three times that of the Ingres.

The Greuze has the lowest valuation of any of the
paintings.

The Fragonard and the Degas are valued at the same
amount.

The value of the Ernst 1s as much as that of the Johns
and the Ingres together.

The value of the Hartley 1s as much as that of the Fra-
gonard, the Ernst, and the Johns together.

The value of the Degas 1s as much as that of the Johns
and the Ernst together.

8. A buyer who decided not to buy the Hartley could

E

buy for the same price

[. the Degas, the Ingres, and the Fragonard
II. the Ernst, the Johns, and the Degas
[II. the Ingres, the Ernst, and the Johns

=|\o

Which correctly lists six of the paintings in order of

Increasing value?

(A) Greuze, Ernst, Fragonard, Johns, Ingres,

Hartley

(B) Greuze, Johns, Degas, Ernst, Fragonard,
Hartley

(C) Greuze, Ermnst, Johns, Degas, Fragonard,
Hartley

(D) Greuze, Ingres, Johns, Degas, Ernst, Hartley
(E) Greuze, Ingres, Johns, Ernst, Fragonard,
Hartley

10. The value of the Degas is

H

(A) twice the value of the Johns

(B) twice the value of the Ernst

(C) three times the value of the Johns, less the value
of the Ingres

(D) six times the value of the Ingres

(E) half the value of the Hartley
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(A) Ionly

(B) Il only

(C) Iand II only
(D) I and III only
(E) I, II, and III

. If the Ernst and the Ingres together are valued at ten

times the value of the Greuze, the Hartley 1s valued
at how many times the value of the Greuze?

(A) 12
(B) 14
(C) 21
(D) 28
(E) 49

. The paintings are bought by seven rich collectors

who then trade with each other. Which trade repre-
sents an exchange of even value?

(A) The Hartley for the Degas, the Ernst, and the
Ingres

(B) The Hartley and the Ernst for all the others
except the Greuze

(C) The Degas and the Fragonard for the Hartley
and the Ingres

(D) The Ingres, the Johns, the Ernst, and the Fra-
gonard for the Hartley

(E) The Johns and the Ernst for the Degas and the
Ingres

Questions 13—-16

H

(1) AllPand X are N.

(2) All Nexcept P are X.
(3) NoPare M.

(4) NoRareN.

(5) All M are either X or R.
(6) NoQ are X.

. If statement (2) were shown to be false, which of the

following would necessarily be true?

(A) Some M are neither X nor R.
(B) Some P are not N.

(C) Some Q are X.

(D) Some N are neither P nor X.

(E) Either some X are P or some N are neither P nor
X, or both.

14. Which of the following statements must be true if the

above six statements are true?

I. NoRareP
II. Some X are P
III. Some X are M.
(A) I only

(B) Iand Il only

(C) Iand III only

(D) I, II, and III

(E) Neither I, II, nor III
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15. Which of the following must be false given the con- 20. Ohio 1s the site of
H| ditions as stated? M
I. Leesville Lake
(A) NoQare P II. Freeport Campsite
(B) Some Q are neither N nor R. III. Jackson Lak
(C) Some R are X. ' YOn A
(D) AllR are M.
(E) Some X are not M. Eg; hoggy
| C) III onl
16. Which of the numbered statements can logically be ED)) I ar?(;l 1)11 only
H| deduced from one or more of the other statements? (E) I, 11, and III

A)(2) B)3) ©) @@ @D 6 (E)®

21. Which is true of Leesville Lake?

H (A) Carol is camping there.
: 1722 (B) Donna i1s camping there.
Questions (C) Itis in Maine
Four persons — Allen, Brian, Carol, and Donna—are (D) It is the site of Freeport Campsite.

camping at four separate campsites — Edmunds, (E) Allen is camping there.
Freeport, Grand Isle, and High Point, not necessarily

in that order. The campsites are located on four

separate lakes — Indian Point, Jackson, Keewau-

kett, and Leesville, not necessarily 1n that order —

which are in four separate states — Maune. | 22. Which cannot be determined on the basis of the
Nebraska, Ohio, and Pennsylvania, not necessarily ] information given?
in that order.
Brian is camping on Keewaukett Lake. (A) What state Keewaukett Lake is in
High Point Campsite is on Jackson Lake, which (B) Who is at Edmunds Campsite
is in Nebraska. (C) What campsite 1s in Pennsylvania
The person at Indian Point Lake, a native of (D) Who is camping in Nebraska
Pennsylvania, camps only in that state. (E) Which states Carol and Donna are in

Donna is at Freeport Campsite.
Allen 1s camping 1n Ohio.

17. Where must Brian be camping?

23. Our new Model EXT Superwash Automatic Dish-
E (A) At Edmunds Campsite E| washer is the best dishwasher you’ll ever own. It
(B) In Maine comes in any of fourteen decorator colors. It’s so
(C) On Leesville Lake quiet you’ll find yourself checking to see if it’s
(D) At Freeport Campsite really on. And best of all, it comes in different
(E) In Nebraska widths and heights so that there’ll be no need to

redesign your present kitchen around it.
18. Indian Point Lake is the site of

The argument above is most weakened by its failure
to mention

(A) Freeport Campsite

(B) Allen’s camp

(C) the camp in Ohio (A) the t
. erms of the warranty

Eg)) ((:};éll(,islcs:l:m(;ampsne (B) how well the dishwasher washes dishes

(C) the specific sizes available

19. On the basis of the information given, it is possible E[E))) m rrn“;‘r‘;h g}‘;ﬁé‘;“;gg ctl‘i‘:h&aslfslr‘:gsl?&rdgses
Mi to deduce that Y

[. Allen is not at High Point Campsite
II. Carol s in Pennsylvania
[II. Donna is not at Edmunds Campstie

(A) Ionly

(B) II only

(C) III only

(D) I and III only
(E) II and III only



24. Based solely on artifacts recently discovered 1n

E

ancient Xenian tombs, archeologists claim to have
reconstructed the Xenian civilization of that time.
What could be more absurd? No hieroglyphs or other
written records were unearthed; thus, the archeolo-
gists are claiming to have reconstructed a culture
without any evidence of how the people who lived 1n
that culture thought.

The argument above 1s based on which of the follow-
Ing assumptions?

(A) Physical artifacts do not provide evidence of
how people think.

(B) Archeologists would be able to translate ancient
Xenian writing 1f it were found.

(C) Insufficient effort was expended by the archeol-
ogists in searching for written records.

(D) Physical artifacts are of no use in trying to
reconstruct a civilization.

(E) Written records are all that 1s needed to recon-
struct a civilization.
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. I’m afraid that Roger will never be an outstanding

football player again. Last year he injured his knee,
and the doctors had to remove some of the cartilage.

The argument above is based upon which of the fol-
lowing assumptions?

I. One must have healthy knees to play football.
II. How well one plays football may be influenced
by the condition of one’s knees.
III. Healthy knees are necessary for a professional
football career.

(A) Ionly

(B) II only

(C) I'and II only
(D) II and III only
(E) I, 11, and Il

S T O P
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SECTION 6

Time — 30 minutes

25 Questions

Questions 1-4

George adores classical music. He always prefers Bee-
thoven to Bartok and Mahler to Mozart. He always pre-
fers Haydn to Hindemith and Hindemith to Mozart. He
always prefers Mahler to any composer whose name
begins with B, except Beethoven, and he always
chooses to listen to a composer he prefers.

.

E

=t

W

=

George’s brother gives him one recording by each of
the composers mentioned. Which of the following

correctly states the order in which George must play
some of the records?

(A) Beethoven, Bartok, Mozart
(B) Haydn, Hindemith, Mozart
(C) Beethoven, Mahler, Bartok
(D) Hindemith, Mahler, Mozart
(E) Haydn, Hindemith, Mahler

. Which of the following cannot be true?

(A) George prefers Mahler to Bartok.
(B) George prefers Beethoven to Mahler.
(C) George prefers Bartok to Mozart.
(D) George prefers Mozart to Beethoven.
(E) George prefers Mahler to Haydn.

. George’s mother also gives him one recording by

each composer mentioned. Which of the following
cannot occur?

(A) George plays the Beethoven first.
(B) George plays the Haydn first.

(C) George plays the Mahler third.
(D) George plays the Beethoven fitth.
(E) George plays the Bartok last.

. George’s father gives him several records. If the first

record he plays is by Berlioz, which of the following
must be true?

(A) There is no record by Hindemith.

(B) There 1s no record by Bartok.

(C) One of the records may be by Haydn.

(D) If there 1s a record by Haydn, George will play
It second.

(E) There is no record by Beethoven.

. The new Spanish film, The Other Side of the Mirror,

the psychologically probing story of a pair of dis-
turbed lovers, 1s clearly the best foreign film of the
year, since 1its box office receipts show that even
more people are seeing it than have seen Double

Fugue, the highly acclaimed U.S. film on a similar
theme.

@)

~J

Directions: Each question or group of questions is based on a passage or set of conditions. In answering some of the
questions, it may be useful to draw a rough diagram. For each question, select the best answer choice given.

The argument above is based on which of the follow-
ing assumptions?

(A) Double Fugue 1s the best U.S. film of the year.
(B) Foreign films should be judged by standards dif-
ferent from those used for U.S. films.

(C) Foreign films should be judged by the same
standards used for U.S. films.

(D) Psychologically probing stories make the best
films.

(E) The quality of a film can be measured by the
number of people who go to see it.

. By the very nature of their work, scientists must rig-

orously apply the scientific method. Every conclu-
sion they reach is scrutinized by other scientists and
corrected and refined as needed until it can be certi-
fied as scientifically valid. No other view of the
world 1s derived in such a manner; neither the theo-
logian nor the sociologist nor the artist makes use of
this method. Thus, the scientific worldview must be
the most accurate.

Which of the following best describes the flaw in the
reasoning used in the argument above?

(A) The author uses a single term to mean more
than one thing.

(B) The author tails to explain in detail how the sci-
entific method works.

(C) The truth of the author’s conclusion 1s assumed
rather than justified.

(D) The author ignores the fact that many accepted
scientific theories are later disproved.

(E) The author attacks the people who hold other
views, rather than attacking the views
themselves.

. Melinda: George has become a better boxer since he

started meditating.

Alfredo: Impossible. A boxer’s most important asset
1S his aggressiveness.

Alfredo’s statement implies that he believes that

(A) meditation tends to make a person less
aggressive

(B) meditation has little or no effect on the person
who practices it

(C) George was previously a poor boxer because he
was not aggressive enough

(D) George has not really been meditating

(E) mental attitude has little or nothing to do with a
boxer’s effectiveness



Questions 8—12

=0

x|

11.
H

H

(1) At a baseball game, five men, L, M, N, O, and
P, and five women, S, T, U, V, and W, occupy
a row of ten seats. The men are 1n odd-num-
bered seats, starting from the left; each woman
sits to the right of the man she is dating.

(2) O1s V’s date.

(3) W is not at the right end of the row and the man
she 1s dating is not at the left end of the row.

(4) N 1s one seat from the right end of the row.

(5) The man dating W likes T best among the other
women and insists on being seated to the
rightof T.

(6) M and his date occupy the middle pair of seats.

(7) V sits next to M.

. Which of the following lists five persons who must

sit adjacent to one another, from left to right?

(A) U, V,0,M,
(B) M, T, L, W,
(C) O, VM, T,
(D) O, V, M, T, and either L or P
(E) LorP O, VM, T

T
N
W

n

. U’s date may be

(A) NorL
(B) LorP
(C) NorP
(D) N,L,orP
(E) M. N, orL

. Which of the following cannot be determined on the

basis of the information given?

[. Who occupies the seat farthest to the left
[I. Who occupies the seat farthest to the right
[II.  Which other women are nearest T

(A) lonly

(B) III only

(C) I'and Il only
(D) II and III only
(E) I, 1I, and HI

Which of the following could be determined exactly
if the position of either L or P were given?

(A) The identity of L’s date
(B) The identity of P’s date
(C) The identity of L’s date or P’s date, but not both

(D) Which woman 1s not seated between two men
(E) Who is sitting to O’s left

12. In order to determine the position of T, it 1s neces-

sary to use how many of the numbered statements?
A3 B4 ©)S5S Do (k)7
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Questions 13-16

Seven teenagers at Gateway Amusement Park — Carlos,
Leona, Gregor, Ingrid, Naomi, Dave, and Rick — are
going to ride the new roller coaster, Dragon’s Breath.
‘Two cars are available, but the teens have to split up
according to the following conditions:

- Y
P

Carlos and Naomi are boyfriend and girlfriend and

must be 1n the same car.

Dave and Gregor are friends but Ingrid is Gregor’s

girltriend, so Dave cannot be in the same car as
Gregor unless Ingrid is also in that car.

The roller coaster rules say that the maximum number

of riders 1n each car 1s four.

Leona 1s Gregor’s sister and Rick is Leona’s ex-

boyfriend, so neither Leona nor Gregor can ride in
the same car as Rick.

. If Dave rides in the same car as LLeona, which of the

following must be true?

(A) Rick rides in the other car.

(B) Ingrid rides in the other car.

(C) Gregor rides in the other car.

(D) Naomi rides in the same car as Dave and Leona.
(E) Carlos rides 1n the same car as Dave and Leona.

. If Naomi rides in the same car as Gregor, which of

the following must be true?

(A) Rick rides 1n the same car as Naomi and
Gregor.

(B) Leona rides in the same car as Rick.

(C) Leona nides 1n the car other than the one 1n
which Gregor rides.

(D) Naomi and Gregor ride in the car carrying four
people.

(E) Carlos rides 1n the car other than the one 1n
which Gregor rides.

. If Rick rides in the same car as Ingrid, which of the

following must be true?

(A) Dave rides 1n the same car as Leona.

(B) Dave rides 1n the same car as Carlos.

(C) Leona ndes in the same car as Gregor.

(D) Naomi rides in the same car as Rick and Ingrid.
(E) Dave rides in the same car as Naomi.

. If Naomi rides in the same car as Dave, which of the

following would be a complete and accurate list of
the people who must ride in the other car?

(A) Rick, Gregor, Ingrid

(B) Rick, Carlos, Leona

(C) Ingnd, Carlos, Gregor, Rick
(D) Rick, Ingrid, Leona

(E) Ingrid, Leona, Gregor
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Questions 17-22

Mathematics 11 is a prerequisite for Mathematics 101,
except for students with advanced placement in mathe-
matics, who may take Mathematics 101 without any
prerequisite.

Chemistry 11 or 21 is a prerequisite for Chemistry 101,
except for students with advanced placement in chem-
1stry, who may take Chemistry 101 without any
prerequisite.

Physics 1, followed by Physics 11 or 21, is a prerequisite
for Physics 101 or 121. There is no advanced place-
ment in physics, but Mathematics 11 is acceptable in
place of Physics 1.

Students who have passed Mathematics 101 may take
Mathematics 202, 211, or 221; students who have
passed Chemistry 101 may take Chemistry 201, 211, or
221, or Mathematics 201 for chemistry credit; students
who have passed Physics 101 or 121 may take Physics
201 or 221, or Chemistry 201 for physics credit.

Students who have passed three or more graduate-level
courses acceptable for credit in a given field may be
admitted to a concentration sequence in that field.

(Courses numbered 200 or higher are considered grad-
uate-level.)

—

17. A student who has passed Physics 101
El

may be admitted to a concentration sequence 1n
physics without taking Physics 121
[I. may be admitted to a concentration sequence in
physics after taking two more physics courses
[II. must have taken Physics 1 or 11 or both

(A) Ionly

(B) III only

(C) I'and Il only
(D) I and III only
(E) I, II, and III

18. What is the minimum number of courses 1n mathe-
E| matics or chemistry that can satisty the requirements
for admission to a concentration sequence in chemis-

try for a student without advanced placement in
chemistry?

A)3 B)4 ©)>5 (Do (E)7T

19. A student with advanced placement in mathematics
E| may qualify for admission to a concentration
sequence in chemistry by taking which of the

following?
I. Mathematics 101 and 202, Chemistry 11, 201,
and 211

[I. Chemistry 11, 101, 201, 211, and 221
[II. Mathematics 101 and 211, Chemistry 21, 101,
201, and 221

20. How many separate ways are there to qualify for
M| admission to a concentration sequence in physics?

(A)3 B)4 )6 D)8 (E)I12

23.

24.

(A) Ionly

(B) Il only

(C) III only

(D) I and III only
(E) II and III only

. The maximum number of courses that must be taken

by any student to qualify for admission to a concen-
tration sequence is

A)4 @B)S5S (©) 6 (D)7 (E)S8

. If all chemistry classes are cancelled following an

explosion that destroys the chemistry building,
which of the following must be true?

I. No new students will be able to qualify for
Mathematics 201.
[I. No new students will be able to quality for a
concentration sequence in physics.
[II. No graduate-level courses will be open to stu-
dents who have already passed Chemistry 101.

(A) Tonly

(B) Il only

(C) I'and II only
(D) Iand IH only
(E) I, I, and III only

None of the stockholders in Elronco who knew
Ortega and supported her reorganization plan voted

for the merger with Anaco, but some of them owned
stock in Anaco.

If the statement above is true, each of the following
statements may or must also be true EXCEPT:

(A) No one who owned Anaco stock supported
Ortega’s reorganization plan.

(B) Everyone who voted for the merger with Anaco
owned Anaco stock.

(C) Some of the Anaco stockholders knew Ortega.

(D) Some of the Elronco stockholders who opposed
Ortega’s reorganization plan knew Ortega.

(E) None of the Elronco stockholders voted for the
Anaco merger.

Which of the following contradicts the view that
only the smart become rich?

(A) Bnian was smart, yet he was poor his whole life.

(B) Both “smart” and “‘rich’ are relative terms.

(C) Different people are smart in different ways.

(D) Some smart people do not desire to become
rich.

(E) Peter is stupid, yet he amassed a large fortune
by the age of 30.



25.

E

Television convinces viewers that the likelihood of
their becoming the victims of violent crime 1s
extremely high; at the same time, by its very
nature, television persuades viewers to passively
accept whatever happens to them.

The argument above leads most logically to the con-
clusion that

(A) people should not watch television

(B) television promotes a feeling of helpless vulner-
ability 1n its viewers

(C) television viewers are more likley to be victim-
1zed than other persons

(D) the content of television programs should be
changed to avoid fostering the attitudes
mentioned

(E) television viewing promotes criminal behavior

S T O P
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SECTION 7
Time—30 minutes
30 Questions
Numbers: All numbers used are real numbers.
Figures: Position of points, angles, regions, etc., can be assumed to be in the order shown; and angle measures

can be assumed to be positive.
Lines shown as straight can be assumed to be straight.
Figures can be assumed to lie in a plane unless otherwise indicated.

Figures that accompany questions are intended to provide information useful in answering the questions.
However, unless a note states that a figure is drawn to scale, you should solve these problems NOT by

estimating sizes by sight or by measurement, but by using your knowledge of mathematics (see Example
2 below).

Directions: Each of the Questions 1-15 consists of two quantities, one in Column A and one in Column B. You are to
compare the two quantities and choose

A 1f the quantity in Column A is greater;

B if the quantity in Column B 1s greater;

C if the two quantities are equal;

D if the relationship cannot be determined from the information given.

Note: Since there are only four choices, NEVER MARK (E).

Common

Information: In a question, information concerning one or both of the quantities to be compared is centered above the

two columns. A symbol that appears in both columns represents the same thing in Column A as it does
in Column B.

Column A Column B Sample Answers

Example 1: 2 X 6 2+ 6 _JONGEONG

Examples 2-4 refer to A\ POR.

Example 2: ®® 000

(since equal measures cannot
be assumed, even though PN
and NQ appear equal)

Example 3: b y O JONONG)
(since N is between P and Q)

Example 4: w+ z 180 ONCX RONG,
(since PQ is a straight line)




A if the quantity in Column A is greater;
B if the quantity in Column B is greater;
C if the two quantities are equal;

D if the relationship cannot be determined from the information given.

Column A

8. 0.003%
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Column B

0.0003 E

%o

Column A Column B
a<b<c
d<e<f
1 a f E
64 < x < 81
2 X 65 E
A B C

KA = 6,BCL = 17, and BC = 8

3. Length of KL 23 £
4 \V 144 V100 + V44 E

radius of I = 3 inches
radius of II = 4 inches
radius of III = 5 inches

10. Length of perimeter of
triangle ABC, formed
by joining the centers
of the three circles

2 feet

Side BC of parallelogram ABCE 1s

extended to D.
y = 130

11. X

AB = AC
3. x+y X+ z E
6 3\/48 12
V3 :
x  ox _ T
43512

abc

12. 1

Il

ab

13. The average of one-
tenth, one-hundredth,
and one-thousandth

0.111
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A if the quantity in Column A 18 greater;

B if the quantity in Column B 1s greater,

C if the two quantities are equal;

D if the relationship cannot be determined from the information given.

Column A Column B Column A Column B

The operation zés is defined by the
equation a A b =a®+ b*

xy # 0 15.

SR RN

VV A
— — SO

14. (x Q y)? fﬁ Y a b

Directions: Each of the Questions 16—-30 has five answer choices. For each of these questions, select the best of the
answer choices given.

16. For which values of n and d is % > 1? 18. If 0.6 is the average of the four quantities 0.2, 0.8,
E gl 1.0, and x, what is the numerical value of x?
(A) n=5andd =6
(B) n =3andd = 2 (g) 82
(C) n=landd = 2 ) 0
(D) n=landd = 1 04
(E) n=0andd = 1 EE)) )
a.? . b2
19. (a — b)? 1sequalto
E (A) a+ b
(B) a — b
a+ b
(©) a— b
— b
17. In the figure above, [ || m. All of the following are (D) Z + b
El true EXCEPT: (E) 1
(A) c=d
(g) a4 = d 20. The area of square EFGH is equal to the area of rec-
(D) a :Z E| tangle ABCD. If GH = 6 feet and AD = 4 feet, the
EE)) ; _ . perimeter (in feet) of the rectangle 1s
(A) 13
(B) 16
(C) 24
(D) 26

(E) 36



Questions 21-25 refer to the following graphs.
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. In one million marriages, how many thousand (to the

nearest thousand) bridegrooms would you expect to

HIGHEST LEVEL OF EDUCATION OF BRIDE-
GROOMS IN 24-27 AGE GROUP

College
Graduates 20%

Postgraduate

be between the ages of 51 and 60?

(A) 5
(B) 15
(C) 16
(D) 17
(E) 5

. Which of the following best represents the percentage

Below
High School

Education 4%

of men who married at age 24 or younger?

Graduation 16%

High School
Graduates 60%

24,

(A) 7
(B) 10
(C) 24
(D) 32
(E) 48

Which of the following can be inferred from the

graphs?

DISTRIBUTION OF 302,000 MARRIAGES
ACCORDING TO AGE OF BRIDEGROOM

oo
-

4

~J
o

I. Almost three times as many marriages occur

when bridegrooms are in the 21-24 age bracket
as occur when they are aged 33-36.

Most bridegrooms are high school graduates.
About 2920 bridegrooms aged 24-27 receive
postgraduate education.

(A) ITonly (B)IIonly (C)IIIonly
(D) I'and III (E) Il and III

II.
II.

. Approximately what percentage of the men who

b
-

1 1
36 39 42 45 48 51 54 57

Age of Bridegroom

= am—|
66 69

o

-

63

e y § ’ 8 = S - |
18 21 24 27 30 33 60

21. If drawn accurately, how many degrees should there
E| be in the central angle of the sector indicating the
number of college graduates?

(A) 20
(B) 40

27

Az B3 ©2 D)4 ()8

=)

-

-

" M| married were between the ages of 21 and 27 years?
29 i (A) 7

S (B) 13

= 502 (C) 26

- (D) 44

5 40— (E) 67

§ 30— ] 26. The radius of a pool is twice the radius of a circular
= | flower bed. The area of the pool 1s how many times
> 20 — the area of the flower bed?

;

—

T

=

i3

@Y

. In the figure above, AB is the diameter and OC =

(C) 60

BC. What is the value of =9

(D) 72
(E) more than 72

2
(A) 20 (B)30 (C)e60 (D)9 (E) 120
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28. One-half of a number is 17 more than one-third of 30. If two items cost c¢, how many items can be pur-
M| that number. What is the number? M| chased for x¢?

(A) 52 (B)8&4 (C) 102 (D) 112 (E) 204 (A) &

2¢

29. Sam and Florence together have $100. After giving (B) 2¢
M| Florence $10.00, Sam finds that he has $4.00 more X

than -%— the amount Florence now has. How much (C) g(-{

9

does Sam now have* (D) g_zg_c

(A) $18.67

(B) $20.00 (E) 2cx

(C) $21.00

(D) $27.50

(E) $35.00

IF YOU FINISH BEFORE TIME IS CALLED, YOU MAY CHECK YOUR WORK ON THIS SECTION ONLY.
DO NOT WORK ON ANY OTHER SECTION IN THE TEST.



Answer Key — Diagnostic Test

Note: The answers to the quantitative sections are keyed
to the corresponding review areas in the Mathematics
Review (Chapter 11). The numbers in parentheses after

Section 1 Verhal

[

Section 2 Verhal

Pnmnd

Section 3 Quantitative

Section 4 Quantitative

SOOI R DD

COXIoNR D=

Sl A T d he

e BE=ANR A S e

- Neol--IJdi--NeoNoNeNco N

mOERO»>PEHEOE

B (I-B)

B (II-B)
C@

B (II-E)
C (I-A)
B (I-A)

B (II-B-4)

C (II-C)

C (I-A)
B (II1I-A)
A (II-A)
B (II-A)
D (III-G)
C (II-B)
A (I-H)
C (II1I-D)

11.

12.
13.
14.
15.
16.
17.
18.
19.
20.

11.

12.
13.
14.
15.
16.
17.
18.
19.
20.

9.
10.
1.
12.
13.
14.
15.
16.

10.
11.
12.
13.
14.
15.
16.

amaaaoEa»w

=i SolNeol dol-Nel e

D (II1I-A)
A (I-H-4)

D (II-B-4)
D (II1-A, D)
C (III-A, D)

A (II-G)

A (I111-A, D)

A (I-C)

B (1I-C)

C (II1I-A, D)

D (II-B)
B (I1II-G)
C (I1I-G)
C (II1-G)
C (II1-D)
C (II-C)

each answer refer to the math topic(s) covered by that
particular question.

21.
22.
23.
24.
25.
26.
27.
28.
29.
30.

21.
22.
23.
24.
25.
26.
217.
28.
29.
30.

17.
18.
19.
20.
21.
22.
23.
24,

17.
18.
19.
20,
21.
22.
23.
24.

- oNeol--Neolel--Nolc!

I oN-l--NoNel-i--Ne!

E (II-B)

D (I-G)

C (II-E)

D (II1-G)

C (IV)

A (II-E, IV)
B (IV)

C (IV-B)

A (II-C)

E (I-D)

E (I-G)

E (I1-C)

C (IV-C)
A (I-D, IV)
B (1V)

D (IV)

31.
32.
33.
34.
35.
36.
37.
38.

31.
32.
33.
34.
35.
36.
37.
38.

25.
26.
27.
28.
29.
30.

25.
26.
217.
28.
29.
30.
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wBeBel--N--N--Helle

oR--Aol--NBoll--Nelc!

E (II-E, 1V)

D (I1I-H)
D (II-B)
A (II-E)
B (II-C)
E (I-G)

C (II-E, IV)

D (I1-C)
C (II-E)
B (II-E)
A (I1-G)
A (I1I-A)
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Section 5 Analytical

1 C 8.
2 D 9.
3 E 10.
4 C 11.
5 C 12.
6 D 13.
7 D 14.

Section 6 Analytical

1 B 8.
2 D 9.
3 D 10.
4 E 11.
5 E 12.
6 C 13.
7 A 14.

Section 7 Quantitative

. D (I-G) 9,
2.  D(I-A) 10.
3.  A(III-B) 1.
4. B (I-H) 12.
5.  C(III-A) 13.
6. C(I-H) 14.
7. A(II-A) 15.
8. B(I-C,D) 16.

Self-Appraisal

* ol - Rl ool

=i S NeoNe@R=e

C I-B,D)

C (ITII-F)

B (II1I-C)

A (II-A)

B (I-G)

A (I-H, II-B)
A (I-B)

B (I-B)

Now that you have completed the Diagnostic Test, evalu-
ate your performance. Identify your strengths and weak-
nesses, and then plan a practical study program based

on what you have discovered.

Use the Answer Key to check your answers. Your raw
score for each section is equal to the number of correct
answers you had. Compute your raw score for each abil-
ity area (verbal, quantitative, analytical) by adding your
raw scores from the two sections on that area. Since on
the actual GRE the experimental section does not count
In your score, use only two of the three quantitative sec-
tions on this Diagnostic Test when computing your raw

quantitative score.

Once you have determined your raw score for each abil-
ity area, use the conversion chart that follows to get your
scaled score. Note that this conversion chart is provided
to give you a rough estimate of the GRE score you would
achieve if you took the test now without any further prep-
aration. When ETS administers a GRE, a conversion
chart for that particular exam is prepared based on statis-

15.
16.
17.
18.
19.
20.
21.

15.
16.
17.
18.
19.
20.

21.

17.
18.
19.
20.
21.
22.
23,
24,

ol Jlwi gl N - Ne

oR~A--NoNoNoNe!

A (I1I1-B)

B (I-G)

C (II-A)

D (III-G)
D (I1I-F, D)
D (IV)

C (I-D, IV)
D (IV)

22.
23.
24.
25.

22.
23.
24.
25.

25.
26.
27.
28.
29.
30.

S >R ®

w & O

D (I-D, IV)
D (III-G)
C (I11I-P)
C (II-C-1)
B (I1I-B)

C (II-E)

tical data. The unofficial conversion chart presented
here gives you only an approximate idea of how raw

scores convert into scaled scores.

Use this Diagnostic Test to identify areas you may be
weak in. You may find that you had trouble with a partic-
ular question type (for example, you didn’t do well on
the analogy questions in either verbal section), or with
particular subject matter (for example, you didn’'t do well
on any geometry questions, whether they were quantita-
tive comparisons or discrete quantitative). Determining
what you need to concentrate on will help you plan an

eftective study program.

Remember that, in addition to evaluating your scores and
identifying weak areas, you should read all the answer
explanations for questions you answered incorrectiy,
questions you guessed on, and questions you answered
correctly but found difficult. Reviewing the answer expla-
nations will help you understand concepts and strategies,
and may point out shortcuts.



SCORE CONVERSION CHART

Scaled Scores
Verbal Quantitative Analytical
Raw Score Score Score Score

75 800

70 770

65 710

60 650 800

55 590 750

50 540 690 800
45 490 630 770
40 450 560 700
35 410 500 620
30 360 430 550
25 320 370 470
20 280 310 400

Answer Explanations

Section1 Verhal

.

2.

3.

4.

B.

E.

C.

C.

Lacking the information derived from an actual
census or population count, a numerical
description of the human population would of
necessity be a matter of conjecture (supposition
based on estimate or guesswork).

Given that the tide pool provides suitable ret-
uge, 1t is likely that the intertidal fish would
seek to return to it. In such a case, they would
be helped by the development of a homing
instinct.

In a case in which experts disagree, it 1s incum-
bent on responsible scholars (that 1s, falls upon
them as a scholarly duty or obligation) to
refrain from making statements that are dog-

matic or excessively assertive and arbitrary
about the 1ssue.

You are dealing with either similar or contradic-
tory impulses. If the impulses are similar (that
1S, analogous, comparable, or related), the sec-
ond missing word should be a synonym or near-
synonym for individualize. If the impulses are
contradictory (that is, disparate or divergent),

.

9.

10.

. Al

. B.

C.
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the second missing word should be an antonym
or near-antonym for individualize. In this case,
the latter holds true. The impulses are diver-

gent; they are the impulse to individualize and

the contradictory impulse to rypify (treat charac-
ters as representatives of a type).

The politicians do not forsake center stage.
However, if they did forsake center stage once in
a while, the public might like them better for

their self-effacement (withdrawal from
attention).

The key phrase here 1s “some small village
world.” To be concerned only with village or
parish affairs is to be parochial; Mrs. Woolf’s
novels thus have an air of parochialism. Again,
it 1s a small world, perfect in its tininess as min-
1ature paintings are perfect.

Choice A 1s incorrect. It is Mrs. Woolf’s choice
of scene and not her choice of period that gives
her novels their special atmosphere. (Anachron-
ism has to do with chronological misplacings of
persons or events. )

Choices C and D are incorrect. Nothing in the
sentence suggests cynicism (pessimistic disbe-
liet) or intrigue (love of mystery) to be charac-
teristic of Mrs. Woolt’s work.

Choice E, though tempting, 1s incorrect. A vil-
lage world 1s not necessarily a fragile one; it 1s,
however, a provincial, narrow one—1in other
words, a parochial one.

Because they do not have enough time to read
the whole treatise, the editors ask for an abridg-
ment or compendium.

Remember, before you look at the answer

choices, read the sentence and try to think of a
word that makes sense.

A clasp 1s the fastening on a bracelet. A buckle
1s the fastening on a belt.

(Function)

A sedan 1s a kind of automobile. A rocker i1s a
kind of chair.

(Class and Member)

To pardon an offense by definition is to give up
resentment for it without exacting a penalty. To

forgive a wrong is to give up resentment for it
without exacting a penalty.

(Defining Characteristic)

11. B. By definition, a route that is circuitous tollows

an indirect course. Likewise, an argument that
1s devious follows an indirect course.

(Defining Characteristic)



o0

A Diagnostic Test

12. A. To be nonplussed (totally at a loss) is to exhibit

13.

14.

15.

16.

7.

C.

E.

C.

C.

bafflement (perplexity). To be discomfited
(abashed; disconcerted) is to exhibit
embarrassment.

Beware eye-catchers. Choice D is incorrect. To
be despicable is to be worthy of contempt; it is
not to exhibit contempt.

(Synonym Variant)

A gully (miniature gorge or valley) is smaller
than a canyon (deep gorge or valley). Likewise,
a pebble is smaller than a boulder.

(Degree of Intensity)

To be officious (meddlesome) is to be helpful in
an excessive, offensive manner. To be sycophan-
tic (fawning, obsequious) is to be deferential
(respectful) in an excessive, offensive manner.

(Manner)

Fatina 1s the green coating, caused by oxida-
tion, on bronze objects. Rust is the reddish coat-
Ing, caused by oxidation, on iron objects.

(Defining Characteristic)

Cacophony (dissonance, harshness of sound) is
by definition not mellifluous (pleasant-sound-
Ing). Noisomeness (stench, rankness of smell) is
by definition not fragrant (pleasant-smelling).

(Antonym Variant)

The author states that the later novels of James
play down prominent action. Thus they lack
overtly dramatic incident. However, the author
goes on to state that James’s novels do possess
interest; they carry the reader through “a rich
analysis of the mental adjustments of the char-
acters to the realities of their personal situa-
tions.” It 1s this implicitly dramatic psycho-
logical revelation that sustains the reader’s
Interest.

Question A 1s unanswerable on the basis of the
passage. It 1s evident that James wrote psycho-
logical novels; it i1s nowhere stated that he origi-
nated the genre.

Question B 1s unanswerable on the basis of the
passage. Although conventional narrative tech-
nique relates “‘events in distinctly phased
sequences,” clearly separating them, 1t does not
necessarily recount action in strictly chronologi-
cal order.

Question D is unanswerable on the basis of the
passage. The passage does not deal with the
general public’s reaction to James.

Question E 1s unanswerable on the basis of the
passage. The passage talks of qualities in James

18.

19.

20.

C.

as a novelist in terms of their being characteris-
tic, not in terms of their making him unique.

While the stories themselves grow simpler, their
moral and psychological aspects become
increasingly complex.

Choice A is incorrect. The passage mentions the
specific description of settings as characteristic
of James’s early, conventional novels, not of his
later works.

Choice B is incorrect. In his later novels James
grew less concerned with plot and more con-
cerned with psychological revelation.

Choice D is incorrect. The “excitement of visi-
ble actions building up to a climactic event” is
characteristic of the common novel, not of the
Jamesian psychological novel.

Choice E 1s incorrect. The later novels tend
instead to subordinate dramatic effect to psy-
chological exploration and revelation.

The author refers to novels of action as ‘“‘over-
stuffed’ and ‘‘crammed with adventitious
events.”” However, these comments, though
stated with assurance, are merely made in
passing. Thus, his attitude is best described as
one of decided disapprobation or disapproval.

Choice A 1s incorrect. The author 1s not point-
edly indignant or deeply resentful in tone. He is
merely making mildly critical remarks 1n
passing.

Choice B is incorrect. The author does make
passing comments that disparage the novel of
action. He is not wholly neutral on the topic.
Choice C 1s incorrect. While the author does
disparage the novel of action, he does not ridi-
cule or deride it sharply.

Choice D is incorrect. The author is certainly
not a strong partisan or advocate of the novel of
action.

The author indicates that the theory of plate tec-
tonics draws upon earlier hypotheses on sea-
floor spreading; he provides details about the
history of these hypotheses, tracing them from
their initial formulation by Hess to their explica-
tion by Vine and Matthews and finally to their
confirmation by the work of the manned sub-
mersibles. Thus, he traces the development of a
theory.

Choice A is incorrect. The author presents data;
he does not question data.

Choice B is incorrect. The author briefly
describes current explorations. However, that is
not his primary purpose.

Choice D is incorrect. It is unsupported by the
passage.

Choice E is incorrect. The author mentions the
phenomenon of the periodic reversals of the



21.

22.

23.

earth’s magnetic field. However, he states this
phenomenon “continues to be one of the great
mysteries of geology”’; he does not explain the
reasons behind it.

The entire thrust of the article is to summarize
the current state of knowledge in marine geol-
ogy. In addition, both the passage’s free use of
technical terminology and its careful provision
of definitions explaining this terminology are
characteristic of scientific journal articles aimed
at an educated audience of nonspecialists in a
field.

Choice A is incorrect. The passage 1s exposi-

tory in tone; it 1S nOt persuasive or argumentative.

Choice B is incorrect. It mentions volcanism
only in passing.

Choice C 1s incorrect. The passage is far greater
In scope.

Choice D is incorrect. The passage indicates no
such explanation of “one of the great mysteries
of geology” exists.

The subduction zone is the site of the destruc-
tion or consumption of existing lithospheric
material. In contrast, the mid-ocean ndge is the
site of the creation or emergence of new litho-
spheric material.

Choice A is incorrect. Both mid-ocean ndges
and subduction zones are boundaries between
plates.

Choice B 1s incorrect. Both mid-ocean ridges and

subduction zones are located on the ocean floor.
Choice D is incorrect. It is unsupported by the

passage.
Choice E 1s incorrect. The reverse 1s true.

Choice B is correct. You are told that the new
lithospheric material is injected into a mid-
ocean ridge, a suboceanic mountain range. This
new material does not disappear; it is added to
the matenal already there. Thus, it is incorpo-
rated into the existing mid-ocean ndge.

Choice A 1s incorrect. “In general the plates are
in motion with respect to one another.” Nothing
suggests that they become immobilized; indeed,
they are said to diverge from the ndge, sliding
as they diverge.

Choice C is incorrect. The passage specifically
denies 1t. (“The size of the earth is essentially
constant.”)

Choice D is incorrect. It is the earth itself
whose magnetic field reverses. Nothing in the
passage suggests the new lithospheric material
has any such potential.

Choice E is incorrect. At a mid-ocean ridge, the
site at which new lithospheric material is
injected from below, the plates diverge; they do
not sink. (They sink, one plate diving under
another, at a subduction zone.)
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24. D. You can determine the correct answer by the

25.

26.

27.

C.

C.

process of elimination.

Question I is answerable on the basis of the
passage. The passage states that the earth’s
magnetic field “‘reverses at intervals of from
10,000 to about a million years.” Therefore,
you can eliminate Choice B. Question II is
unanswerable on the basis of the passage. What
causes the changes in polarity is still a mystery

to geologists. Therefore, you can eliminate
Choices Cand E.

Question III is answerable on the basis of the
passage. The width of the magnetic stripes
“indicates the rate’ or pace of sea-floor spread-
ing. Therefore, you can eliminate Choice A.
Only Choice Dis left. It is the correct answer.

Since the passage states that the size of the earth
1s essentially constant, if large amounts of new
lithospheric material are being created at one
point, it follows that correspondingly large
amounts of lithospheric material are being
destroyed at another point. Thus, an increase in
activity at a mid-ocean ridge or creation point
would be matched by a corresponding increase
in activity at a subduction zone or destruction
point.

The third sentence of the second paragraph
states that one plate dives under another (sinks)
and is reincorporated or absorbed into the
mantle.

Choice A is incorrect. Lithospheric material
rises at mid-ocean ridges, not at subduction
Zones.

Choice C is incorrect. New lithospheric material
is injected at a mid-ocean nidge.

Choice D is incorrect. The injection of new litho-
spheric material causes sea-floor spreading
around the mid-ocean ndge.

Choice E is incorrect. The lithospheric plates
are described as diverging from a mid-ocean
ridge, not from a subduction zone.

Until the most recent explorations, marine geol-
ogists lacked maps ‘““as precise as those of a
geologist on land.” This suggests that, com-
pared to land geologists, marine geologists were
laboring under a disadvantage.

Choice A is incorrect. While the marine geolo-
gists lacked adequate charts, nothing in the pas-
sage suggests they had been negligent in their
work.

Choice B is incorrect. It is unsupported by the
passage.

Choice D is incorrect. The passage suggests that
marine geologists had inadequate access to the
ocean floor before submersibles came into use.

Choice E is incorrect. The sea-floor spreading
hypothesis has been known to marine geologists
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28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.
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since the 1960s. Thus, they were aware of it
well before the recent explorations involving
manned submersibles began.

The opposite of to deteriorate (become worse)
1S to improve.

Think of “deteriorating health.”

The opposite of evasive (not direct; shifty;
equivocal) 1s frank (candid; open).
Think of “evasive remarks from a politician.”

The opposite of to strew or scatter is to collect.
Think of “clothes strewn all over the floor.”

The opposite of a prodigal (spendthrift; extrava-
gant person) i1s an economical person.

Beware eye-catchers. Choice C is incorrect. A
prodigal 1s not a prodigy (wonder; gifted
person).

Think of ““a prodigal squandering his wealth.”

. The opposite of to equivocate (avold commit-

ting oneself in what one says) 1s to pledge (bind
or commit oneself solemnly).

Think of politicians “hedging and equivocating.”

The opposite of crass (stupid; vulgar; incapable
of appreciating refinement) is refined.
Think of “a crass blockhead.”

The opposite of artifice (trickery; guile) is
sincerity.

Think of being *‘tricked by her skillful
artifice.”’

The opposite of opulence (wealth; atfluence) 1s
penury or extreme poverty.
Think of “luxurious opulence.”

The opposite of untenable (not able to be sup-
ported or defended) is defensible.
Think of “an untenable argument.”

The opposite of sedulous (diligent; exhibiting
care) 1S cursory (hasty; inattentive).
Think of “sedulous attention to details.”

The opposite of to disabuse (undeceive) is to
deceive.

Beware eye-catchers. Choice A is incorrect.
Disabuse 1s unrelated to physical maltreatment
or abuse.

Think of “disabusing someone of a
misapprehension.”

Section2 Verhal

l.

2.

3.

E.

D.

B.

. A.

. B.

The presence of extraneous (unrelated; irrele-
vant) i1deas that have been dragged in would
make an argument difficult to comprehend.
Note that the phrase set off by the commas
serves to define the material referred to and thus
defines the first missing word.

Because the tendency to migrate exists in all
time periods, you cannot fully explain it on the
basis of any single time period. Your explana-
tion, like the phenomenon itself, must be inde-
pendent of any particular period of time.

The conjunction since here 1s used as a syn-
onym for because; it indicates a cause and
effect relationship.

Given the ubiquity of light, it 1s unsurprising
that creatures have developed the biologically
helpful ability to make use of light energy.

Note the use of therefore indicating that the
omitted portion of the sentence supports or con-

tinues a thought developed elsewhere in the
sentence.

After incubating the new functions, the next
step would be to nurture or foster their growth
until they were ready to be sent out into the
world. Their departure, however, would not
diminish the cities, for by continuing to breed
fresh ideas the cities would renew themselves.
Note the metaphoric usage of incubate and
breed that influences the writer’s choice of
words. Cities do not literally incubate busi-
nesses or breed ideas; they do so only
figuratively.

Man is gregarious or sociable. However, he is
more 1n need of mental companionship than of
physical companionship. The writer plays on
words 1n his conceit that a man may like to go

alone for a walk but hates to stand alone in his
oplnions.

Here the contrast is between reality and pre-
tense. Mrs. Proudie feigned or pretended a great
interest in the parishioners’ welfare. However,
her interest was not great but actually negligible
or 1insignificant, so insignificant as to be almost
nonexistent.

Note that the conjunction although signals the
contrast here. Note also that the phrase *“so neg-
ligible as to be practically nonexistent” is a
cliché, a literary commonplace.

By definition, an excessive or grandiloquent lit-
erary work lacks economy or conciseness in ver-
bal expression.

Note that you are dealing with a secondary
meaning of economy here.



8.

9.

10.

11.

D.

C.

A prologue precedes a play. An overture pre-
cedes an opera.

(Sequence)

Serrations are the teeth on the edge of a saw.
Cogs are the teeth on the rim of a gear.

(Part to Whole)

Thirst 1s a specific example of a drive (state of
instinctual need). Smell is a specific example of
a sense.

(Class and Member)

A sledge (large , heavy hammer) strikes or
pounds 1n a spike (very large nail). A hammer
strikes or pounds 1n a nail.

Beware eye-catchers. Choice A 1s incorrect.
Sledge here 1s related to sledgehammers, not to
sleds or sleighs.

(Function)

2. A. Something ephemeral (fleeting; transient) lacks

13.

14.

15.

16.

17.

C.

E.

A.

C.

permanence. Something erratic (unpredictable)
lacks predictability.

(Antonym Variant)

Just as the wheat i1s separated from the worthless
straw or chaff, the wine is separated from the
worthless sediment or dregs.

(Part to Whole)

To ogle 1s to observe or look at someone provoc-
atively (in an attention-getting manner). To
flaunt is to display or show off something pro-
vocatively (in an attention-getting manner).

(Manner)

Someone abstemious (sparing in drinking and
eating) manifests abstinence (self-restraint in
drinking and eating). Someone pusillanimous
(cowardly) manifests cravenness (cowardice).

(Synonym Variant)

Something ineluctable (unavoidable) is impos-
sible to avoid. Something ineffable (inexpress-
ible) 1s impossible to utter.

(Antonym Variant)

The passage points out that in this period the
differences between the two branches of the suf-
frage movement were diminishing in impor-
tance. Thus, it 1s accounting for changes
occurring in the movement.

Choice A i1s incorrect. Both Anthony and Howe

18.

19.

20.

21.

22.

E.

A.

D.

C.
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are mentioned (along with other suffragist
leaders) 1n the context of the movements they
led, but only the movements, not these two
leaders, are directly contrasted.

Choice B is incorrect. The movement did not
advance 1n this period.

Choice D is incorrect. The divisions were
becoming less important, not more so, as the
two branches became increasingly alike in
nature.

Choice E is incorrect. It is unsupported by the
passage.

The National took up the cudgels for all women
in distress, whatever their social or economic
standing.

The revered Mrs. Howe stood for the forces of
propriety that were engulfing the suffragist
movement. The embodiment of decorum, she
was a venerated figurehead to be admired and
respected, not a revolutionary firebrand to be
followed into the battle.

Choice B 1s incorrect. Nothing in the passage
suggests Mrs. Howe was overzealous.

Choice C is incorrect. Mrs. Howe was orthodox
in her thinking, not heterodox.

Choice D is incorrect. A lay preacher 1s by defi-
nition not a member of the clergy. Therefore,
Mrs. Howe was not an ordained cleric.

Choice E is incorrect. Mrs. Howe was charac-
terized by a lack of militancy.

The passage focuses on describing the factors
which led to the diminution or lessening of radi-
calism 1n the movement for women'’s suffrage.
Choice A is incorrect. The title is far too limited
In scope to cover the entire passage.

Choice B is incorrect. The title is far too general
to suit the passage.

Choice C is incorrect. The title is inapt: the pas-
sage focuses not on the rifts but on the diminu-
tion of radicalism which led to the closing of the
rifts.

Choice E 1s incorrect. The title is far too broad
1IN SCOpe.

The author refers to the public’s reaction to the
Molly Maguire trials as “hysteria” that was
“whipped up” or deliberately incited. Clearly,
her attitude toward the reaction is that it was
overwrought or overexcited.

Note how the use of words that convey emotion
(“hysteria”) helps you to determine the author’s
attitude to the subject.

The passage describes Anthony as “ever catho-

lic”: very broad in sympathies; not provincial in
outlook. Anthony was willing to work with any-
one; her sympathies were inclusive, extending
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23.

24,

25.

26.

27.

D.

C.

C.

D.

sisterhood to all those who shared her espousal
of woman suffrage.

Note that catholic here is used in its less famil-
1ar sense of “‘inclusive; universal,” not in 1ts

common sense of “‘pertaining to the Roman
Catholic church.”

The first sentence of the final paragraph indi-
cates that the author’s concern is to avoid a mis-
conception or correct a misapprehension about
what caused the trend towards conservatism 1n
the suffrage movement.

If even the radicai Susan B. Anthony would
have had second thoughts about flouting or dis-
regarding Federal election laws, we may logi-
cally infer that the ordinary, not quite so
militant movement member would have viewed

such actions with disapproval or disapprobation.

Scanning the passage, you easily find the one
sentence that mentions Drosophila. The sen-
tence immediately preceding it conveys the au-
thor’s point: “A small change in a key part of the
program can make a large difference’’

Choice A 1s incorrect. While the author does in-
dicate that he 1s familiar with such experiments,
his primary purpose in citing Drosophila 1s to
support a generalization he has made.

Choice B is incorrect. The author gives an ex-
ample of a genetic change; he does not describe
just how that change took place.

Choice D is incorrect. Any mutation that results
in a fly with legs growing out of its head 1s un-
likely to be an advantageous or favorable one.
Choice E 1s incorrect. The passage suggests that
the particular fruit fly mutation mentioned took
place in one step; it says nothing about how long
It took for the fruit fly to reach its present form.

The second paragraph indicates that an
organism with a “selective advantage” will re-
produce more, that 1s, “on average, leave more
offspring’’ Its advantage is reproductive.

The author’s attitude is most evident in the con-
cluding sentence, in which natural selection is
described as *‘a beautiful mechanism” that in-
creases favorable events. He clearly views the
process with appreciative admiration.

Choice A is incorrect. The author does not
question the process; he believes in it implicitly.
Choice B i1s incorrect. While the author is fasci-
nated by natural selection, he views the process
appreciatively, not with puzzlement.

28.

29.

30.

31.

32.

34.

35.

36.

37.

C.

Choice C is incorrect. The author indicates no
fear or apprehension of the natural selection
process.

Choice E 1s incorrect. The author is involved
with his topic; his attitude is not one of hauteur
or lofty detachment.

The opposite of to terminate (end) 1s to begin.
Think of “terminating someone’s employment.”

The opposite of to protract or prolong is to
abbreviate or shorten.
Think of “protracting a lawsuit.”

The opposite of volubility (glibness, talkative-
ness) 1s brevity (briefness, pithiness).
Think of “unrestrained volubility.”

The opposite of late-blooming 1s maturing early
OrI precoclious.

Beware eye-catchers. Choice D is incorrect.
Something embryonic 1s 1n an incipient stage; it
has not yet bloomed at all.

Think of Einstein, ‘“‘a late-blooming genius”
who was considered not particularly intelligent
as a child.

The opposite of to hone or sharpen 1s to dull
(make blunt).
Think of “honing a razor.”

The opposite of phlegmatic (stolid; undemon-
strative) 1s ardent (passionate; eager).
Think of “phlegmatic and uncaring.”

The opposite of a banality (commonplace; trite
expression) 1s a novel expression.

Thinx of “the banality of a greeting card
rhyme.”

The opposite of erudite (scholarly; learned) 1s
ighorant.
Think of “an erudite scholar.”

The opposite of plethora (overabundance) is
scarcity.
Think of *‘a plethora of tax forms.”

The opposite of currency (vogue or prevalence;
period of acceptance) 1s obsolescence (process
of falling into disuse).

Beware eye-catchers. Choice D is incorrect.
Currency here 1s unrelated to money.

Think of “the currency of an idea.”



38. C. The opposite of to skirt something (avoid deal- 9. D.

ing with a topic or question) 1s to address or
deal directly with it.
Think of “skirting an issue.”

10. A.
Section3 Quantitative
11. D.
n+7  n—3
1. B. 7 T 77
dn + 28 + 3n — 9
12 12. D.
Tn + 19
12
The numerators are the same but the fraction i
Column B has a smaller denominator, denoting
a larger quantity.
13. C.
2. B. 1y + 0.0ly = 2.2
10y + 1y = 220
11y = 220
y = 20
0.1y = 2
o 14. A.
3. C. The reciprocal of 4 1s 7.

1 _ 1
y 16 4 15. A.

1 yard = 3 feet
(0.5) or% yard = 1 foot, 6 inches

(1.5) or 1-12- yards = 4 feet, 6 inches

5. C. Observe 10 +5; 9 +6; 8+ 7;....

There are five additions with the sum in each

A Diagnostic Test 55

BC X AB
2
be true: BC > AB, BC < AB, or BC = AB.

= 18, but any of the following may

V1440 1s a two-digit number (37 + ). Note: for

this test you are required only to estimate
square roots.

Since Rose is older than Mary, she may be older
or younger than Sam.

Since AD = 5 and the area = 20 square
inches, we can find the value of base BC but not
the value of DC. BC equals 8 inches but BD
will be equal to DC only if AB = AC.

Since y = 50, the measure of angle DCB 1s
100° and the measure of angle ABC is 80° since
ABCD 1s a parallelogram. Since x = 40:

z =180 — 90 = 90
z—y= 90 — 50 = 40.

In Column A, d, the smallest integer, 1s sub-
tracted from a, the integer with the largest
value.

Since x = 65 and AC = BC, then the measure
of angle ABC 1s 65°, and the measure of angle

ACB is 50°. Since BC || DE, then y = 50° and
x> y.

D E
case equal to 15.
6. BB 8 X3 =24,7%x3 =214+ 2 =723, 16. A _8__&)___10
ThereforeAz 3. Since 8 X 7 = 56, 0.8 8
_ 08 8 _ 1
thenO——-6. g = R0" 10
(0.8) = 0.64
7. B. jx=‘51(614);'4 V0.8 =0.8 +
X = —
Ay = 52 0.8m = (0.8)(3.14) = 2.5 +
x = 13
17 E. I'7xy + 7= 19xy
8. C. Rate = Distance = Time 7= 2xy
| 3 14 = 4xy
Rate = 36 miles —+ 1 hour
(36) (%) = 48 miles per hour 18. D. Average = XY
Sum = 2 =XY
Sum = 2XY
2XY=X + 7

1=2XY - X
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19. C. This is a direct proportion.

Let x = length of shorter dimension of
enlargement.

25 1k
longer dimension "2 = "8

shorter dimension 4 X

24x = (@)(13)

Sx _ 60
2 8
40x = 120
x=23

the amount invested 1n mortgages must be 2

(IObOx) dollars or $20b0x since the chart indi-

cates that twice as much (58.6%) 1s invested 1n
mortgages as 1s invested in bonds (28.3%).

20.

21.

22.

23.

24.

25.

AEB = 12 AE = 8
AGD =6 AG = 4
Area AEFG = 32
Area ABCD = 72

Area of shaded part = 72 — 32 = 40

Be careful to read the proper line (regular
depositors). The point 1s midway between 90
and 100.

Number of Christmas Club depositors = 60,000
Number of regular despositors = 90,000

60.000 : 90.000 or 6 : 9 org or %—

[ 1s not true; although the number of depositors
remained the same, one may not assume that
interest rates were the cause. II is true; in 1984
there were 110,000 depositors. Observe the
largest angle of inclination for this period. III
1S not true; the circle graph indicates that more
than half of the bank’s assets went into
mortgages.

(58.6%) of 360° = (0.586)(360°) = 210.9°

(Amount invested) X

(Rate of interest) = Interest
: . Interest
or, Amount 1nvested = Rate of interest
Amount invested in bonds = * dollars
b%
x dollars
T 57100

or x = 180 orx: (120) or (x) (100) orslgox.

, . . 100x
Since the amount invested in bonds = b P

26. D.

27. D

28. A.

29. B.

30. E.

T
N T
TP T
4 4+ L‘ ff
11 inm |
'll
o

Draw altitudes AE and BF.
Area of figure = NAED + ABFC +
rectangle AEFB

Area of AAED = %
or £2 units)2(6 units) ¢ square units.
Area of ABCF = 2 (6 ”““5)2(6 units)

or 18 square units.

Area of rectange AEFB = Iw

or (2 units)(6 units) or 12 square units.
Sum = 36 square units.

Or apply formula for area of trapezoid:

Area = Zh(b + b))

Area = %(6)(10 +2)

Area = 36 square units.

Factor x* + 2x — 8into (x + 4)(x — 2). If xis
either —4or2,x° + 2x — 8 = 0, and D is the
correct answer.

This is a case of ratio and proportion.
nautical _ 630 _ x
statute 720 1

720x = 630
x = 0.875

Between 1 P.M. and 3:52 p.M. there are 172
minutes. There are three intervals between the 4
classes. 3 X 4 minutes, or 12 minutes, 1s the
time spent in passing to classes. That leaves

172 — 12 or 160 minutes for instruction or 40
minutes for each class period.

(Average)(Number of cases) = sum

(X)(P) = Px
(VIN) = Ny
Sum = average

Number of cases

Px + Ny = average
P+ N




Section 4 Quantitative

1. C. From —5 to zero there are 5 integers and from
zero to + 5 there are 5 integers. Also, from
+ 5to + 15 there are 10 integers.

2. B. Since the area = 295, each side = 5.
The sum of three sides of the square = 135.
. A X = 05
3 4x = (0.5)(4) = 2.0

x* = (0.5)(0.5)(0.5)(0.5) = 0.0625
If you prefer to work with fractions:

(g -2 () - %

The fraction in Column A has a denominator
with a negative value.

The area of a triangle 1s one-half the product
of the lengths of the base and the altitude, and

can’t be determined from the values of the sides.

Let x = the first of the integers, then:

sum=x+x+1+x+2+x+3+x+4
= S5x + 10.

5x + 10 = 35 (given), then Sx = 25.

x = 5 and the largest integer, x + 4 = 9,

V160 = V16V10 = 410

Since the triangle is equilateral, x = 60 and
exterior angle y = 120. Therefore 2x = y.

9. B. If%— corresponds to 12 gallons, then % corre-

sponds to 6 gallons, and % corresponds to 18

gallons (Column A).
10. C. Since the tniangle is equilateral
3a+ 15=5%a+ 1= 2a+ 22
3a + 15=5a + 1
14 = 2a
T=a
11. D. Sincex — y = 7,thenx = y + 7; xand y have
many values, and x + y may have many values.
A
X
_xz 8 X C
12.B. = = 1|8
2
x’ = 36

x =26
Therefore AC = 6\/2
6\V2 > 6
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A 8
.
D C
13. C. AB=6

Pernnmeter = 24

14. C. Area = -%(6) (6) = 18

-
8 C
15. C. AB = BC (given).
Since the measure of angle B equals the mea-
sure of angle C, AB = AC. Theretore ABC 1s
equilateral and mZA = mZB = m£C, and
m/B + m/ZC = m4LB + mZA.

16. C. Evidently, four cows produce 1 can of milk in
1 day. Therefore. eight cows could produce 2
cans of milk in 1 day. In 4 days. eight cows

will be able to produce 8 cans of milk.

17. A. Visualize the situation. The amount of pure

alcohol remains the same after the dilution with
water.
18. E. Note that the question gives information about
the transfer of teachers, but asks about the
remaining teachers.

60 _ 3 _
50 = 1= 15%

19. E. 152 pounds and 4 ounces = 152.25 pounds

152.25 =+ 3 = 50.75 pounds
0.75 or% pound = 12 ounces

20. E. Letx = number of contestants.

0.05x = 30
5x = 3,000
x = 600

21. C. 500 grams of carbohydrates = 2,050 calories
100 grams of carbohydrates = 410 calories
|1 gram of carbohydrate = 4.1 calornes
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22. A. Total calories = 3,390 30 A, —X— =5 * Lisiven
, s — 1 - 1 —,tetven)
Calories from protein = 410 ¢ > [ 1
410 _ 41 _ —Y = =5 = [ hultiplying fraction by — 1
—‘Ls. =7 T 93_ [t(rearrangement of terms)
23. B. Boys at 17 require 3,750 calories per day. y = —s — ¢ (multiplying by s — 1)

Girls at 17 requrre 2,750 calories per day.
Difference = 1,000

24. D. Iis true; observe the regular increase for both
sexes up to age 13. II is not true; from age 4 to Section 5 Analyﬁcal
12 calorie requirements are generally similar for
boys and girls. Note that the broken line and the

solid line are almost-parallel. Il is true; boys 1-4. Summarize Michael’s schedule:

reach their peak at 17, while girls reach their

peak at 13. Monday 3:30-4:30  Piano Lesson
25. C. 100 grams of fat = 930 calories Tuesday 4.00-6:00  Karate

1,000 grams of fat = 9,300 calories Wednesday 4:00-6:00  Art Class

To obtain 9,300 calories from carbohydrates,

set up a proportion, letting x = number of Thursday 12:00- rree

grams of carbohydrates needed. Friday 3:00-4:30  Club Program

500 grams X
2,050 calories 9,300 calories
2,050x = (9,300)(500) I. C. Note that Thursday is a free afternoon.

x = 2,268 (to the nearest gram)

2. D. Since Michael must begin his piano lesson at

26. D. Since the driver’s tee 1s paid with the car, the 3:30 p.M., Thursday is the only available day.

charge forn — 1 person = c(n — 1) cents; cost
of car and driver = 50¢.

T =50+ c(n—1) 3. E. Since karate and art meet until 6 p.M., Michael
o . . will have to give up these activities in order to
27. C. This s a direct proportion. be present at the 5 P.M. basketball sessions.
Cupsofsugar _ 1.5 _ 1

= = - After his piano lesson, he will have thirty min-
Cups of water 0.5 x utes to get to the basketball court. Thursday

L.5x = 0.5 afternoon 1s free, and the Friday club program
I5x = 1s dismissed by 4:30.
=3
4. C. Since Michael would no longer have to attend
28. B. 1kilogram = 2.21b his original Wednesday art class, that day and
20 kilograms = 44 1b his free Thursday afternoon would be available

for his new class.
29. A. 1is not correct because al- 1s not less than a 1t a

1s 1 or a fraction less than 1. 5. C. This question tests an “all/only’” confusion.
| l ] | Sarah 1s saying that only members with General
[e.g., — or — is not less than | or —-). Il 1s correct Council status are eligible for a position in the
1% 8 President’s cabinet. Charles assumes that Sarah
a + b 2h b 2 i1s saying all the members on the General Coun-
because == -— = = reducesto 5, = 5o cil sit on the President’s cabinet. He knows of
(which we know is correct) when a = b. 11l is one Council member who doesn’t, and refutes
Sarah’s statement. Choice C accurately summa-
incorrect when a is greater than b (e. g g i : rizes Charles’s misinterpretation. Choice A says
the same thing Sarah says, in reverse; Choice B
3 1s simply incorrect (Charles says Grogan does
1S not more than -2-) . This statement 1s also not not sit on the Cabinet); Choice D directly con-
tradicts Sarah’s statement; and Choice E men-
correct when ¢ 1s negative and a 1s less than b tions a post—General Council Manager—that

1sn’t mentioned in the dialogue.

(e.g., if ci1s —1, :23 - }is not more than %—-)

The only correct answer is I1I.



6. D.

1. D.

8-12.

8. B.

10. E.

Analyze the argument: it says that the unem-
ployment problem has one cause, worker lazi-
ness. Anything that gives evidence for this
strengthens the argument; anything that gives
evidence against 1t or suggests another explana-
tion weakens it. D, if true, might be evidence
that the unemployed are lazy. Choices A, B,
and E all suggest different explanations: A, that
the unemployed lack the requisite skills or expe-
rience; B, that they are in the wrong places; E,
that unemployment has another cause alto-
gether. Choice C tends to weaken the 1dea that
unemployed people are lazy.

Event X (baldness) occurs after Event Y (prac-
ticing law). The author of the argument
assumes that Event Y caused Event X, and vows
to avoid Event X by avoiding Event Y. This 1s
poor reasoning, especially since the author is
overlooking at least one far more probable cause
for Event X, i.e., heredity. The same kind of
poor reasoning is used in choice D, where Event
X = injry, Event Y = eating at Rosie’s, and
the overlooked probable cause is unsafe working
conditions. Choice B has the second closest
resemblance, but here the reasoning 1s some-
what more plausible; speeding can lead to one’s
getting a speeding ticket. Choices A, C, and E
all differ from the original argument in the latter
portion of their reasoning.

The only problem in puzzles like this one 1s to
rank the items correctly; the questions are then
simple. Use in:tials, since the seven artists’
names begin with different letters. Ignore G, for
which no definite value 1s given, and start with
the one whose value seems lowest. This is I. If
you call I’s value 1, all the others can be
expressed as multiples of 1, and we get:

G =7

[ = 1

J =3tmes] =3
E=J+1=3+1=4
D=J+E=3+4=17
F=D=7
H=F+E+J=7T+4+3=14

H=14. Optionl, D + I + F adds up to 15.
Option II, E + J + D, adds up to 14, which is
right. Option I1I, I + E + J, adds up to 8.

You can tell that the Greuze 1s worth least and
the Hartley most without really figuring out the
rest, but all choices include those values. If
you’ve constructed a table like the one shown
here, inspection gives choice E.

D =7 H = 14. None of the other choices
adds up to 7.

12.

13-16.

13.

B.

E.
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E + I = 35, sothe value of the Greuze, 1n terms

of the value of the Ingres which is our base, is

—%—' H = 14 or 28 times this.

H+E=18.1+J+ D+ F = 18. Choice
A: 14 # 12. Choice C: 14 # 15. Choice D:
15 # 14. Choice E: 7 # §.

A diagram of the kind shown here 1s your best
approach to this type of problem.

A circle inside another (like circles P and N)
indicates that all members of the first (inner)
group belong to the second (outer) group. Over-
lapping circles (like circles N and M) indicate
that the groups have members in common, but
neither 1s contained entirely within the other.
Solid lines may be used for relationships that
are definitely known; broken lines for relation-
ships that are uncertain. So: statement (1) gives
us the two circles N and P; statements (1) and
(2) the shaded lines for X. Statement (4) gives
us a circle, R, that lies entirely outside N. Why
make 1t border N, instead of being totally sepa-
rate? Because statement (3) gives us a circle,
M, lying outside P, and (5) tells us M lies inside
the areas of X and R (and outside P). But circle
M 1s made entirely of broken lines because we
can’t know for sure whether it overlaps the R/N
border, lies entirely within the X area of N, or
lies entirely within R. Finally, statement (6)
gives us a group, Q, that lies either inside P, or
outside N (whether inside R or not) or both.
Once you have all this admittedly complex
information diagrammed, the questions are
fairly easy.

Statement (2) could be untrue under either, or
both, of two conditions: if some X were P, or if
some N that was not P was not X. This 1s what
choice E states. Choice D states only the second
possibility; it is not necessarily true if statement
(2) is false, because some X that was P would
make statement (2) false even if choice D were
not true. Choices A, B, and C remain false as
long as statements (5), (1), and (6), respec-
tively, are true.
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14. A.

15. C.

16. B.

I 1s true, because R lies entirely outside N while
P is inside. IJ contradicts condition (2). III may

or may not be true, depending on the location of
M.

This 1s false, because R lies entirely outside N,
while X lies inside. Q may lie within P (A) or
outside both N and R (B). or both; we don't
know. D may look impossible, but expand the
M circle in your mind until it exactly coincides

with the R circle: now, all R are M and vice
versa. No stated condition prevents you from

drawing the circle this way, so it 1s not impossi-
ble. No matter how you draw the M circle, it
should be apparent that some X may not be M

(E).

Statement (5), together with statement (2), indi-
cates that no M can be P, since no X can be P
Statement (2) gives information about X not
contained 1n any other statement; (4) excludes R
from N; (5), which may look like the counter-
part to (2), contains the additional information
that no M are to be found outside X and R; and

statement (6) contains the only information
about Q.

17-22.

A four-by-four grid allows you to graph all the
information:

Name

Allen

Brian Carol Donna

Site

High Point |  Freeport

Lake

Leesville] Keewaukett | Jackson Indian Point

State

Ohio Maine Nebraska | Pennsylvama

17. B.

18. A,

19. D.

20. A.

The other items now follow by elimination.
Brian and Keewaukett L.ake must be in Maine.
Since Donna cannot be at High Point, she, and
Freeport Campsite, must be on Indian Point
Lake in Pennsylvania. Carol must be at High
Point. Allen must be at Leesville, the only
remaining lake. Brian and Allen must be at
Edmunds and Grand Isle Campsites, but we

don’t know which person 1s at which campsite.

See above. Choice A i1s possible, but we can’t
be sure. C is a direct contradiction of the infor-
mation about Brian. D and E are ruled out once
everything 1s diagrammed.

See the diagram and the above discussion.

Allen 1s at Edmunds or Grand Isle (I). Carol 1s
in Nebraska (II). Donna 1s at Freeport (11I).

See the diagram.

21.

22.

23.

24,

25.

B.

A.

B.

See the diagram. Allen 1s at Leesville Lake , 1t
1s in Ohio, and it is the site of either Edmunds
or Grand Isle Campsite, but not Freeport
Campsite.

This is the item that remained ambiguous. Kee-
waukett is in Maine (A); Freeport Campsite 1s
in Pennsylvania (C); Carol is in Nebraska and
Donna is in Pennsylvania (D, E).

The ad states that this dishwasher is the best,
but gives only details of its luxury features—
its “‘bells and whistles.” The performance of the
appliance would show it was the best, so Choice
(B) would be the missing part of the ad that
most weakens 1ts argument. Warranty terms,
sizes, electrical use, and capacity would also be
important, but actual dishwashing performance
would be most crucial to proving it was the
“best.”

It 1s claimed that the archeologists could not
have understood the culture because, without
written records, they have no evidence about
how people thought. The assumption 1s that
only written records provide such evidence, and
that physical artifacts do not (A). B and C are
side 1ssues: neither one establishes what the
argument assumes, that written records are the
only clue to what people thought. D and E are
too broad: the argument claims neither that the
artifacts tell us nothing about other aspects of
the civilization (D), nor that written records by
themselves are sufficient to reconstruct the civi-
lization (E).

Statement I is not assumed. The conclusion 1s
that Roger will never be an outstanding tootball
player, not that he will never play football.
Statement II is assumed. The injured knee 1s
cited as the reason Roger will never play out-
standing football. Statement 111 1s not assumed.
Nothing was mentioned 1n the argument about
Roger’s playing professional football.

Section 6 Analytical

1-4.

The only problem with this one 1s that George’s
preferences regarding Mahler, Beethoven, and
Bartok cannot be related exactly to his prefer-
ences among Haydn, Hindemith, and Mozart.
Note also that while he definitely doesn’t prefer
Mahler to Beethoven, he may or may not prefer
Beethoven to Mahler—instead, he may like
them equally. (You’re never told that George
always has a definite preference.) Otherwise,
the questions are fairly straightforward.



1. B. This restates the information in the third sen-

2.

tence; it’s the only set of preferences among
three composers that we know for certain.
George may or may not play Bartok before Mo-
zart (A). We don’t know that he prefers Bee-
thoven to Mabhler, just that he doesn’t prefer
Mahler to Beethoven (C). D and E may be true
but may not be.

George definitely prefers Mahler to Mozart, and
likes Beethoven as much as, or more than,
Mahler. He definitely prefers Mahler to Bartok
(A) and may prefer Beethoven to Mahler (B).
We know he prefers Mahler to Mozart and to
any other composer whose name begins with B,
including Bartok, but this doesn’t tell us
whether or not he prefers Bartok to Mozart (C).
We don’t know how much he likes Mahler, so
he may prefer Mahler to Haydn (E).

3. D. George definitely prefers Beethoven to Bartok.

4.

5.

6.

7.

A.

He also prefers Mahler to Mozart, and likes
Beethoven; at least as much as Mahler. So
among the six, Mozart and Bartok must come
after Beethoven. All the other choices are possi-
bilities that cannot be eliminated.

George prefers Mahler to any composer whose
name begins with B (including Berlioz) except
Beethoven; since he doesn’t preter Mahler to
Beethoven but does prefer him to Berlioz, he
must prefer Beethoven to Berlioz. If Berlioz 1s
played first, there can be no Beethoven record.
None of the other choices 1s definitely true.

Examine the structure of the argument: The
Other Side 1s best since even more people are
seeing it...The assumption 1s that these num-
bers are a valid measurement of quality (E). All
other choices focus on side 1ssues.

The author is using circular reasoning. He
attempts to prove that the scientific worldview 1s
accurate by showing that it has been verified by
the scientific method; yet the validity of the sci-
entific method 1s itself at issue. The author does
not commit the errors mentioned in choices A
and E. Although choice B is true, it 1s neither a
flaw in nor a necessary part of the author’s rea-
soning. Choice D is wrong because the author
claims merely that the scientific worldview 1s
the most accurate, not that it is pertect.

Alfredo replies to the claim about meditation by
stating that aggressiveness 1s most important to
a boxer. The unstated assumption 1s that medita-
tion somehow lessens aggressiveness (A). B 1s

8—-12.
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off because, clearly, Alfredo assumes that some
effect results from meditation. Alfredo implies
nothing about how good or poor a boxer George
was before, and implicitly accepts Melinda’s
testimony that he has been meditating (C, D). E
1s directly contrary to Alfredo’s comment about

aggressiveness, which is certainly a mental
attitude.

As in most logical puzzles, a diagram of some
sort 1s the place to start. The simplest 1s a
sketch of the ten seats (below). When you
know someone is in a seat, put his/her initial in
the box; if a seat 1s definitely occupied by
either of two persons, put both initials there. If
someone’s position 1s uncertain, jot the initial
below the possible seats. Skip to whichever
statements yield the most definite information
to start. Here, statements (2), (4), (6), and (7)
give this information:

Statement (3) gives an uncertainty: W must

be in seat 6 or 8. Statement (5) resolves the
question: W’s date cannot be M, 1n seat 5,
because M i1s next to V. So W’s date must be 1n
seat 7, W must be in seat 8, and T must be M’s
date, 1n seat 6. Nothing else 1s known defi-
nitely. The two remaining women’s seats must
be occupied by S and U, and the two remaining
men’s seats by L and P, but we can’t tell

exactly who is where. Complete your diagram
like this:

8. D.

9. D.

The questions are now easy.

This can be read from the diagram. Choice A
reverses O and V and gives a definite location
for U, which we don’t know. B puts L 1n seat 7,
when we can’t know that. C and E skip a seat—

the question specifies persons sitting adjacent to
one another.

U may be in seat 2 or 10. N 1s 1n seat 9, and

either L or P is in seat 1. Any of these could be
U’s date.
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10.

11.

12.
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C.

Look at your diagram. Exactly who 1s in the
seats at the two ends of the row (I, II) remains
uncertain. The women nearest T (III) are V on
the left and W on the right.

We know that either L or P 1s 1n seat 7, but we
don’t know which. The other must be 1n seat 1.
If we are told which of the two 1s 1n seat 7, we
know his date is W. If we are told which of the
two 1s 1n seat 1, we don’t know his date (it
could be S or U) but we know that the other’s
date 1s W.

To determine T’s position we need statement
(1), which gives the conditions tor all seating;
(3), which gives the seats W may occupy; (2),
(6), and (7), which determine where O, V, and
M sit; and (5), which determines that T is to the
left of W’s date and that W must be in seat 8.
The one statement that 1s irrelevant 1s (4).

13.

14.

15.

16.

A.

D.

C.

[ .eona can’t ride in the same car as Rick, so
Rick must be in the other car.

If Naomi rides in the same car as Gregor, Carlos
must be 1n that car also. This means that Leona

1s also 1n that car, since she and Gregor must be

together in the car that does not carry Rick.

If Rick 1s in one car, Leona and Gregor must be
in another car, together. Choice A is incorrect
since Leona and Gregor are together in a car
without Rick. Since Dave and Gregor can be to-
gether in a car only if Ingrid 1s 1n 1t too, Dave
can’t be with Leona and Gregor. B and E are in-
correct, since Dave, Rick, and Ingrid must be
together 1n the same car, and Carlos and Naomi
must be together in one car. Dave, Rick, and In-
grid can’t be 1n that same car because the max-
imum number of riders in one car is four. Also,
Dave and Carlos can’t be in a car together.

Carlos must be 1n the same car as Naomi, so
Dave, Naomi and Carlos, at least, must be in
this car. Gergor can’t be in the same car, since
he would then be together with Dave, but with-
out Ingrid (and no more than four people can
ride 1n a car). Gregor 1s then 1n the other car, and
since Gregor and Rick can’t be together, Rick

1s the fourth person in the first car. Leona and
Ingnd share a car with Gregor.

AP —» 4 M101

Ma221

M211

M11 P21

P121

C211

M202 C221 P201

&201 P221}

MATHEMATICS
CONCENTRATION

17-21.

17.

18.

19.

20.

21.

C.

B.

D.

C.

Y

.

J
PHYSICS

~
CHEMISTRY CONCENTRATION

CONCENTRATION

The information given can be diagrammed in
the way shown here. Many of the questions can
then be answered by inspection of the diagram,
without even looking back at the rules as
printed.

I 1s true because Physics 101 and 121 are alter-
native prerequisites for the 200-level courses in
Physics. II 1s true because Chemistry 201
counts as a graduate-level course, along with
Physics 201 and 221. Il is not true because
Mathematics 11 can substitute for Physics 1,
and Physics 21 tor Physics 11.

To qualify using chemistry courses only, the
student must take Chemistry 11 or 21, 101, 201,
211, and 221—five 1n all. Using Mathematics
201 would cut one chemistry course, but to do
this the student must take at least two mathe-

matics courses— 101 and 201—so the total
becomes Six.

I 1s out because Chemistry 101 must be taken to
qualify for the 200-level Chemistry courses. 11,
though pedestrian, is just fine. III is out because

Mathematics 201, not 211, satisfies the chemis-
try requirement.

After the Physics 101/121 level, the student
must take Physics 201 and 221, plus Chemistry
201—but there are eight separate ways to reach
this level. You can just follow the separate lines
on the diagram: Mathematics 11 or Physics 1,

followed by Physics 11 or 21, followed by Phys--
ics 101 or 121.

In physics, one must take Mathematics 11 or
Physics 1, Physics 11 or 21, Physics 101 or 121,
and three graduate-level courses. In mathemat-
Ics or chemistry, one can qualify with five
courses, or four if one has advanced placement.



22.

I 1s true because Chemistry 101 is the only
acceptable prerequisite for Mathematics 201. II
1S true because only two graduate-level physics
courses will be available; the third graduate-
level course that could be taken for physics
credit 1s Chemistry 201, which will be can
celled. III is false because Mathematics 201,
will still be open to students who have taken
Chemistry 101.

Knew Ortega

Supported
Ortega’s plan

Elronco stockhoiders

Voted
for
merger

Owned
Anaco stock

23. A. With a complex statement like this one, a circle

24.

25.

E.

B.

diagram similar to those used in some analyti-
cal reasoning questions may be a help. In the
diagram shown here, those who knew Ortega
and those who supported her plan are shown as
overlapping circles. The pro-merger votes are
shown not intersecting the overlapping area
(stockholders who knew Ortega and supported
her plan); the circle for Anaco stock-owners
does intersect it, and otherwise is drawn as
generally as possible.

With the aid of the diagram, you can see
that choice A 1s impossible; choices B, D, and
E are all possible, while choice C must be true.

The claim being discussed 1s that only the smart
become rich, not that a// the smart become rich;
theretore choice A is wrong. The way to dis-
prove this view would be to point out that some
stupid people also become rich (choice E).
Choices B, C, and D, while possibly relevant to
the 1ssue raised, do not directly contradict the
claim.

This choice combines the two psychological
effects mentioned in the original argument.
Choices A and D are wrong because the argu-
ment states matters of (alleged) tact and does
not, by 1itselt, imply any recommendations.
Choices C and E are wrong because the argu-
ment (1f true) establishes that TV viewers
believe certain things; it does not imply any-
thing about what actually happens.
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Section 7 Quantitative

.

2.

D.

D.

No relationship between a and fis given.

The variable x may have a value between 65
and 80.

Kt———6-—-—-1

3. A. KL = 23 + length of AB

0.

7.

A.

KL > 23

V144 = 12:

V10D + V44 = 10 + 6+ = 16+

Since y = z, because AB = AC, x + y =
x + z (if equals are added to equals the results
are equal).

3VA8 V3 3V144  (3)(12) '
e

REIRE

X x 7
- 4+ —=—
4 3 12
3x 4x 7
..__._._+_....._—_
12 12 12
3x + 4x =7
x=1
] > —1

8. B. 0.003% = 0.00003

9.

C.

0.0003 > 0.00003

ke, — 4 _ k. _
4% =700 = 4 7 100 =
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10. C. AB = 3inches + 5 inches = 8 inches
BC = 5 inches + 4 inches = 9 inches
AC = 4 inches + 3 inches = 7 inches

Total 24 inches = 2 feet

11. B. Sincey = 130.z = 50.
m/ ECD = 180° — 130° = 50°

2x = 50°
x = 25°
12. A. Sinceabc = 0andc¢ = 1, theneitheradorb =
Qoraand b = 0.
13. B. 0.1 + 0.01 + 0.001 =0.111 (sum)
O0.111
average =——-§-—-
0.111 >0.111
3

14. A. xQy= x2+y2
(x & y)>=(x2+ y?)?2 =x%+ 2x2y2 + y4 (Column A)
x2 Hy2 = (x2)2 + (y2)? = x4 + y4 (Column B)

15. A. The fraction with the larger denominator has the

smaller value. Since the value of-g— 1S greater

than g—, thena > b.

16. B. Select the choice in which the value of n is
greater than the value of d in order to yield a

value ofg greater than 1.

17. A. d= 180butc # d

d (vertical angles)

e (corresponding angles)
f = b (corresponding angles)
f = c (alternate interior angles)

QR 5
N+

18. B. Sum = (0.6)(4) or 2.4,
02+08+1=2.
x=24—-20r04

19. C

az—-b"_(a+b)(a\\Q)__a+b

(@ — b} (a — b)la—~.b) a - b

6'

20.

21.

22.

23. C.

24,

25.

26.

D.

D.

D.

D.

D.

6’ F A 9’ B

40
6:

6’ G

Area of square = 36 square feet.
Area of rectangle = 36 square feet.
Since AD = 4, DC = 9 feet,

and the perimeter of ABCD = 26 feet.

l
20% or 5 of 360° = 72°

6,000 : 302,000 :: x : 1,000,000
302,000x =

6,000 X 1,000.000 = 6.000.000.000
~ 60,000

X (rounded off) = 20,000

The closest numberis 17

18 — 21 group = 11,000
21 — 24 group = 61,000
Total = 72,000
72,000
=23+ %

302.000

[ 1s correct; marriages in 21-24 group =
61,000 and in the 33-36 group = 21,000. Il 1s
not correct; the circle graph gives data only for
bridegrooms in the 2427 group. III 1s correct;
the number of bridegrooms aged 24—27 who re-
ceive postgraduate education = (73,000) (0.04)
or 2920.

Total between 21 and 27 :
61,000 + 73.000 = 134,000

134,000 134 44
302,000 302 100

(approx.) = 44%

Since the formula for the area of a circle is 7/,
any change in r will affect the area by the
square of the amount of the change. Since the

radius is doubled, the area will be four times as
much (2)°.
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27. C. Since OC = BC and OC and OB are radii, tri- 29. B. Letx = amount Florence had.
angle BOC is equilateral and the measure of

angle BOC = 60°. Let y = amount Sam had.

x + $10 = amount Florence now has.

Therefore x = 120 and =x = 60. y — $10 = amount Sam now has.
2 x + vy = $100
x + $10
- 5$ + $4=y - 10
28. C. Letx =th .
¥ = (he number x + $10 + $20 = Sy — $50
5=§+]7 x — 5y = —3%80
x + v=3%100
3x = %62+ 102 —x — v= — 100 [multiply by — 1]
o x — 5y = —$80
— 6y = — $180 [subtraction]
v = $30 (amount Sam had)

$30 — $10 = $20 (amount Sam now has)

30. C. This is aratio problem.
number of items 2
C

“ep——
——

I

SRR

cost 1n cents

L J

c(?) =

(7) =
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Sentence Completion
Questions

GRE sentence completion questions test your ability to
use your vocabulary and recognize logical consistency
among the elements in a sentence. You need to know
more than the dictionary definitions of the words
involved. You need to know how the words fit together to
make logical and stylistic sense.

Sentence completion questions actually measure one
part of reading comprehension. If you can recognize how
the different parts of a sentence affect one another, you
should do well at choosing the answer that best com-
pletes the meaning of the sentence or provides a clear,
logical statement of fact. The ability to recognize irony
and humor will also stand you in good stead, as will the
ability to recognize figurative language and to distinguish
between formal and informal levels of speech.

Because the sentence completion questions contain
many clues that help you to answer them correctly (far
more clues than the antonyms provide, for example), and
because analyzing them helps you warm up for the read-
ing passages later on in the test, on the paper-and-pencil
test, answer them first. Then go on to tackle the analo-
gies, the antonyms, and, finally, the time-consuming
reading comprehension section.

GRE sentence completion questions may come from
any of a number of difterent fields—art, literature, histo-

ry, philosophy, botany, astronomy, geology, and so on.
You cannot predict what subject matter the sentences

on your test will involve. However, you can predict what
general pattern they will follow.

1. A GRE verbal section will most likely begin with sen-
tence completion questions.

2. Cn the written test, in each set of sentence comple-
tion questions, the first one or two are relatively sim-
ple to answer,; the last one or two, relatively hard.

A look at the GRE's published tables showing the per-
centages of examinees answering each question cor-

rectly supports this point. In general, from 80 to 90 percent
of the examinees taking a given test will answer the first
sentence completion question in a set correctly. On the
average, only approximately 35 percent of the examinees

taking a given test will answer the last question in that set
correctly.

What makes the hard questions hard?

1.

Vocabulary Level. Sentences contain words like
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